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Question Number : 1 Question Id : 9277596693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Gmail : Email service :: Facebook : ?
Options :

1. * Trading account

2. ¥ Social Network

3. # Calendar

4. # Storage platform



Question Number : 1 Question Id : 9277596693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g

Gﬁﬂﬁ:gﬁﬂﬂ'ﬁﬁ::w:?
Options :

1. % SR ol

2. ¢ TR Acdp

3. % paier

4. % TG ©ICHH

Question Number : 2 Question Id : 9277596694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Diabetes
2. # Cancer

3. % Virus

4. # Diphtheria

Question Number : 2 Question Id : 9277596694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Rimedl # @ & T Rfyd ai% A TuE &1 gTl(P, T faed 3 diF o1 oRE el ¢ | 39 f[dhcd o1 I8 &Y off 37 ¥ 3T B

Options :



Question Number : 3 Question Id : 9277596695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % 125
2. % 512
3. % 1331
4.9 1728

Question Number : 3 Question Id : 9277596695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fRiwedl A @ & e Rfyd % T TuH 81 gTlTe, T faeed 3/ diF ot aRE Tl ¢ | 39 A et o1 I &Y oY 30 ¥ 3T B
Options :

1. #® 125

2. % 512

3. % 1331

4.9 1728

Question Number : 4 Question Id : 9277596696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

ADGS, EGIT, KU, MMMV,
Options :

1. ¥ QPOW

2. % QMVM

3. ¥ NNUW

4. % ONPM



Question Number : 4 Question Id : 9277596696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad aR e o Q1

ADGS, EGIT, KU, MMMV,
Options :

1. ¥ QPOW

2. % QMVM

3. * NNUW

4. * ONPM

Question Number : 5 Question Id : 9277596697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the given series.

1152, 144, 30, 6, 3
Options :

1. % 144

2.9 30

3.% 6

4. % 3

Question Number : 5 Question Id : 9277596697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRIEEICHIR RIGGR RIS 2

1152, 144, 30, 6, 3
Options :
1. % 144




2.9 30
3.%6
4. %3

Question Number : 6 Question Id : 9277596698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement:
E>Y>Z;P>Q>Y=S
Conclusions:

1.Q>Z

II.P>S

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Either conclusion I or II follow
4. ¥ Both conclusion I and II follow

Question Number : 6 Question Id : 9277596698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § U Sy fear mar 8, g a1 gl fAsw e [ 3R 11 fau U § 1 3mueh! 39 HUA &) I AT 8, YA 81 I8 ITHId: J1d a2 3 i
Tdid 81 et T fofg &+ B fop faw e fse st 7 @ & 1, afe 1S 8,  f3T U Sy § | 3 wRur ST 3

HY:
E>Y>Z;P>Q>Y=S

.Q>Z
IL.P>S

Options :

1. % $Had FT5HY [ 3FIERU Sl §



2. % Had (DY I1 SR Hal §
3. % 1 dl fepe 137 11 SR Rl §
4. fTsHY 1 3R 11 ST SITERUT Rd §

Question Number : 7 Question Id : 9277596699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C, D, E, and F are six candidates who appeared for their physical test. No two person have the same height. D is not the tallest person. At
least three people are shorter than D but taller than E. How many people are taller than E?

Options :
1. # Two
2. ¥ Five
3. # Three
4. ¥ Four

Question Number : 7 Question Id : 9277596699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B,C, D, E, 3R F 38 SHIGAR § Sl 30+ IR TRIE0T & fore IuTRd gU A1 {51 ol fdadl &1 diaTs 99 g1 ¢ | D Tay adl
e 781 81 HH W HH - fF D A B AP £ J 7 §1 E I et safe ol 82

Options :

1. %3

2. ¥ U

3. % dH

4, % IR

Question Number : 8 Question Id : 9277596700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most logical course of action for the following scenario.
Rohit got a call for a job interview which he needed very badly. But on the same day, he was having his final exam of his college. He will




Options :

1. #® Leave his final exam and will give the interview and get selected.

2. ¥ Ask the job authorities to reschedule the interview to the next day, and will appear in the examination.
3. # Leave his interview and will give the final exam.

4. % Reschedule his exam.

Question Number : 8 Question Id : 9277596700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad uResa & for HRaTs &1 9ad difdd greushd I |
Afed BT AHl & ol FTapR & foIE it T, St 38 I ke ot | Afde I a1, S9! wetfaared &1 sifaw ulien ot a8

Options :

1. % U Sifaw e BYs SISk TR S 3R Jafd g S|

2. ¢ S UIFIHRUT § SATS o AR o1 GAfHuiRd & & fore dgm, iR adten & =mfira g
3. % 3T WIETHR SISHR HfaH U |

4. % 3O OET gAFYIRG B

Question Number : 9 Question Id : 9277596701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most logical course of action for the following scenario.
You work in a XY X bank and an angry customer wants to meet the manager of the bank for the grievance reporting. What will you do?

Options :

1. # Talk to him in a rude manner.

2. # Will ask the security to throw him out of the bank.

3. ¥ Try to remove his inconvenience by consulting seniors.

4. % Tell him it is not easy to meet the manager.

Question Number : 9 Question Id : 9277596701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied uResa & o RaTs &1 9ad difd e greushd I |
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Options :

1. % I deaHtell I d7d P |

2. % RIS o1 d I I 18R Ha1aH & ol Hgl |

3. ¢ GRET Y Y8 ARIFGRT B IUD! SYAUT Dl G HIA D1 YA Dl |
4. % I I b Ueiees o o =181 ]

Question Number : 10 Question Id : 9277596702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the last term of the series. 16, 24, 60, 210,
Options :

1. # 420

2. % 630

3. % 840

4. % 945

Question Number : 10 Question Id : 9277596702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el BT 3 UG A1 DRI 16, 24, 60, 210,
Options :

1. * 420

2. % 630

3. % 840

4. % 945

Question Number : 11 Question Id : 9277596703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following information carefully to answer the given questions: 9W % BOYSVU3#2G§SR2Q£L£6KS



How many such symbols are there in the above arrangement each of which is immediately preceded by letter but not immediately followed by a
letter?

Options :
1. ¥ One
2. % Two
3. # Three

4. * Four

Question Number : 11 Question Id : 9277596703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T Uil & IR & & fog FRfaRed STHeR! &1 Mg ST H: 9 W% BOYSVU3#2GSR2QE6K S
SRIGd TR & T fran fog & o0 @ e & 31 Ugd U 31&R ¢ Al 31 §1g o 318R gl 82

Options :

1.¥ T

2. % Q)

3. % T

4. % IR

Question Number : 12 Question Id : 9277596704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many such pairs of letters are there in the word 'SOMETHING!', each of which has as many letters between them in the word (both forward
and backward direction ) as they have between them in the English Alphabet ?

Options :
1. * One
2. % Two
3. % Three
4. ¥ Four

Question Number : 12 Question Id : 9277596704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Iec 'SOMETHING' # 31&RI & T ford- g &, oFH § Ude & ot Weg H (3T 3R Uiy 1 fazmaii #) Ia- & s1er g foras 39 &g
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Options :

1. % Uh

2. % T

3. % diF

4, ¥ IR

Question Number : 13 Question Id : 9277596705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statements and answer the question on their basis.

'A $ B' means 'A is father of B'.
'A # B' means 'B is daughter of A'.
'A x B' means 'B is sister of A'.
'A @ B' means 'B is husband of A'.

How is P related to T in the expression P @ Q $ R @ S # T?
Options :

1. ¥ Maternal grandmother

2. % Paternal grandmother

3. % Father

4. % Mother

Question Number : 13 Question Id : 9277596705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad Hul o1 ue 3R I7& MMYR R UY BT I <
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Options :
1. ¢
2. % grdt
3. % U
4. % HIdl

Question Number : 14 Question Id : 9277596706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six boys P, Q, R, S, T and U are sitting around a circular table facing inside but not necessarily in same order. Two person sits between P and U
and P sits immediate left of S. S sits opposite to T and sits second to right of R. Who sits opposite to R?

Options :
l.* P
2. Q
3.% S
4. % T

Question Number : 14 Question Id : 9277596706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BEASPH P, Q, R, S, T 3R U T JATHR Aol & ARI 31R 3R DI 3R T FRb 96 & b1 TIRTd el s pH A 9IS gl P AR U F o™
AT IS IR, SFAF U AT 5, T%Wéﬁ%@ﬁR%WQ?rgﬂiwméa%m%Wﬁﬁa%?

Options :
1.* P
2.9 Q
3.% S
4. % T

Question Number : 15 Question Id : 9277596707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

S, B, and L have a business in which they share profit in the ratio of 5 : 4 : 3. When B retires from the business, he gives his 1/4th share to S and
remaining to L. find out the new profit sharing ratio of S and L.

Options :
1. 1:1
2. % 2:1
3. % 1:2
4. % 13

Question Number : 15 Question Id : 9277596707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S, B 3R L &1 TS AU g OoRH 45 : 4 : 3 % U & 1Y AT A ¢ | 9T B AT & JaTgd g1l &, I a8 30T 1/471 g s &
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Options :

1. 111

2. % 2:]

3. % 12

4.% 13

Question Number : 16 Question Id : 9277596708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.



Options :

Question Number : 16 Question Id : 9277596708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 TS IR AHIAA H T, I MBI BT I B o Uy i fa fofafika gl



Options :



Question Number : 17 Question Id : 9277596709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Image 1
2. % Image 2
3. * Image 3
4. * Image 4

Question Number : 17 Question Id : 9277596709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fimedl H @ & T Ry aie A UM &1 BT, T faed 3/ diF o1 oRE el ¢ | 39 f[dhcd o1 I8 &Y off 317 ¥ 3T B

Options :

1. % Bfd 1



2. ¥ B9 2
3. % Bfa3
4. % Bfd4

Question Number : 18 Question Id : 9277596710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figure is the correct mirror image of the given figure?

Options :

1. ¢

Question Number : 18 Question Id : 9277596710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe T YT I 3TN AB TR W W1 §, Y IR 3N fa § F 1 Al ) 71 3ipfal 31 giur 33 22



Options :

1. ¥

Question Number : 19 Question Id : 9277596711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following Venn Diagram, the triangle represents cricket, the circle represents football and the rectangle represents kabaddi. Which set of
letters represents players who play kabaddi and cricket but not football?



Options :
1. % DE
2.¥E
3. B

4. % BDE

Question Number : 19 Question Id : 9277596711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad 99 oM@ H, Ay fohdre &1 ufafAfiicd =1 ], 90 Weaid &1 WAt HRdl § SR Sd Hag! &I Ui ddl g | el
®1 DI 1 GHg 3 Faarfeal & gxifdr g ot das! 3R fordre Wald § dfd Beald Tt Qad?

Options :
1. % DE



2.¥E
3. B
4. * BDE

Question Number : 20 Question Id : 9277596712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three different positions of the same dice are given below. Which letter is on the face opposite to face showing 'A'?

Options :
1.* D
2.9 C
3. % E
4. % B

Question Number : 20 Question Id : 9277596712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B U ) i faftre fRuferal i & 1 €1 b1 91 e1aRk 1A' giid BT & e RUd Bl TR 82

Options :
l1.* D



2.9 C

3. % E
4. % B
General Awareness
Group Number : 2
Group Id : 927759229
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness
Section Id : 927759252
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759299
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277596713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following institutions has developed NBDriver (neighbourhood driver) for analysing the cancer-causing mutations in cells?
Options :

1. ¥ IIT-Madras

2. % TIT-Bombay

3. ® IIT-BHU Varanasi

4. % IIT-Delhi

Question Number : 21 Question Id : 9277596713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@ﬁﬁﬁ%@ﬁﬁm&ﬁﬁ FIR ITF HA aTa SARAT BT fIZAY0 B & oY NBIZR (sRES S3aR) fawyd farar
"

Options :

1. ¥ IT-Ha™

2. % TSI

3. % [IT-BHU dRTUR

4. % qrT-faet

Question Number : 22 Question Id : 9277596714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Ministry is connected with the National Logistics Excellence Awards?
Options :

1. * Ministry of Home Affairs

2. % Ministry of Information and Broadcasting

3. ¥ Ministry of Commerce and Industry

4. % Ministry of Jal Shakti

Question Number : 22 Question Id : 9277596714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I I HATTY AP TG IPH Tl REBR A 31 67
Options :

1. % T8 HATHT

2. % I Ud YR HATTY

3. ¢ 910Ny Td I HATC

4. % STl RIfoRkT HaATed

Question Number : 23 Question Id : 9277596715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who travelled to the United Kingdom in 1830 as the Mughal Empire's ambassador to ensure that Lord William Bentinck’s Bengal Sati
Regulation was not repealed or overturned?

Options :

1. # Swami Vivekananda
2. # Surendranath Banerjee
3. # Nehru

4. ¥ Raja Rammohan Roy

Question Number : 23 Question Id : 9277596715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1830 H TS ATHST & Ioigd & =0 H gA1Ees [hi1eH &1 ar fore &1 difes g8 g v o e b dfs faferaw dfess & sma et
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Options :

1. % WAt fadeH<
2. % GG Sol
3. % 9g%

4., ¢ ST THHIGA T

Question Number : 24 Question Id : 9277596716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



When did Ramkrishna Mission establish?
Options :
1. % 1895
2. % 1896
3.9 1897
4. % 1898

Question Number : 24 Question Id : 9277596716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG FORE & RITIAT Hd §32
Options :

1. % 1895

2. % 1896

3. ¥ 1897

4. % 1898

Question Number : 25 Question Id : 9277596717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India, also known as Bharat, is a:
Options :

1. # Union of World

2. # Union of peoples

3. % Union of States

4. # Union of country

Question Number : 25 Question Id : 9277596717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, R YR & T ¥ I ST ST e, 98 ©:

Options :



1. % fdy-gg
2. % Alh-IY
3. ¢ -9
4. % QRI-GY

Question Number : 26 Question Id : 9277596718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which of the following article of the constitution, right to property is given?
Options :

1. % Article 35A

2. % Article 300A

3. % Article 19

4. % Article 243

Question Number : 26 Question Id : 9277596718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # A Afaur & fbd 3rgde b Tgd, JUf o1 SHUDR fagr T g2
Options :

1. % 3fTw9G 35A

2. ¥ 3G 300A

3. % TG 19

4. % 3{Jw5G 243

Question Number : 27 Question Id : 9277596719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India played its first official cricket one-day international match against which of the following countries?
Options :

1. ¥ England



2. #* Australia
3. # New Zealand
4. % Pakistan

Question Number : 27 Question Id : 9277596719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A ST Ugdl SHRIBIRS fbde teb-faawiiy siarvrsia # Mafafed # 3 fvw 32 & 9 @an
Options :

1. ¥ §els

2. % 3ffecfer

3. % YIS

4. % Ul

Question Number : 28 Question Id : 9277596720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following sports, the term 'Googly' is generally used?
Options :

1. ¥ Cricket

2. % Chess

3. ¥ Badminton

4. ¥ Hockey

Question Number : 28 Question Id : 9277596720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 forg ©a |, WG TETCT Xeq BT YART fohd ST 82
Options :

1. ¢ fohhe

2. % YA




3. % ggfiica
4. % Gl

Question Number : 29 Question Id : 9277596721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which state is famous for "Warli folk paintings'?
Options :

1. % Odisha

2. % West Bengal

3. % Rajasthan

4. ¥ Maharashtra

Question Number : 29 Question Id : 9277596721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P11 I IRl Al e & forg ulig 82
Options :

1. % 3nfeam

2. % OfYH §Ie

3. % SIRYH

4. ¢ HeRTY

Question Number : 30 Question Id : 9277596722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Dance is originated from the state of Rajasthan?
Options :

1. ¥ Terataal

2. % Mabhal

3. % Savari



4. % Painka

Question Number : 30 Question Id : 9277596722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B § B 1 T oI 5T J I g3 82
Options :

1. ¢ AT

2. % Hgd

3. % gradt

4. % U]

Question Number : 31 Question Id : 9277596723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who discovered the South Pole?
Options :

1. % Robert Edwin Peary

2. % Amundsen

3. % Captain James cook

4. ¥ Vasco-D-Gama

Question Number : 31 Question Id : 9277596723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ferg <féroft ya 1 e i

Options :

1. % e Tefa fuad

2. ¥ ST

3. % P o Hob

4. % GREDI-GIH




Question Number : 32 Question Id : 9277596724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is Tabo Monastery located?
Options :

1. # Uttar Pradesh

2. ¥ Himachal Pradesh

3. #® Jharkhand

4. % Bengal

Question Number : 32 Question Id : 9277596724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dTell T3 H5l [Ud 87

Options :

1. % IW UK

2. ¢ fRHTEd yew

3. % PRYUS

4. % SIS

Question Number : 33 Question Id : 9277596725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was RBI (Reserve Bank of India) established?
Options :

1. ¥ Ist April 1935

2. % 1st April 1936

3. % 1st April 1937

4. % 1st April 1950

Question Number : 33 Question Id : 9277596725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RBI (HRaHT RoTd §F) &t R el g3 U2
Options :

1. ¢ 1 30d 1935

2. % 1 30d 1936

3. % 1 30d 1937

4. % 1 30 1950

Question Number : 34 Question Id : 9277596726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohan jumped from bed to floor. When he hit the floor, he felt a force applied by the floor. Which law of physics, Mohan experienced?
Options :

1. # Newton 1st Law

2. % Newton 2nd Law

3. % Newton 3rd Law

4. ¥ Hubble's Law

Question Number : 34 Question Id : 9277596726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%@;W@fﬂfﬂ@n 9 98 B U THIAT, A1 391 B gRT T 7471 56 Hegd | A/ 7, Hifde! & fora fFom &1 srqva
?

Options :

1. % YA BT 17 4gH
2. % Yo B 23 HuH
3. ¥ oA &1 3 4Tg
4. % g9d &1 fAgH

Question Number : 35 Question Id : 9277596727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the SI unit of 'luminous intensity'?
Options :

1. # ampere

2. % Joule

3. ® watt

4. ¥ candela

Question Number : 35 Question Id : 9277596727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&It i BT S1 3Ts 152

Options :

1. % TRRR

2. % 9d

3. % dic

4. Higan

Question Number : 36 Question Id : 9277596728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has discovered Insulin?

Options :

1. % Domagk

2. # Finsen

3. % Salk

4. ¥ Banting

Question Number : 36 Question Id : 9277596728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



forem ggfer &1 Wil &1 82
Options :

1. % SHND

2. % flhaad

3. % Hleh

4. ¢ S

Question Number : 37 Question Id : 9277596729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who discovered the diffraction of electrons?
Options :

1. # Eugene Goldstein

2. ¥ Sir George Thomson

3. % Anderson

4. % Avogadro

Question Number : 37 Question Id : 9277596729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore Saaeii & faad &I @Iel P12
Options :

1. % ol s |

2. ¢ RIS YA

3. % TS

4. % 3MANTS!

Question Number : 38 Question Id : 9277596730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year WEF (World Economic Forum) was founded?



Options :
1. # 1961
2. % 1966
3. ¥ 1971
4. % 1976

Question Number : 38 Question Id : 9277596730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg au o, WiF (fay snfie o) ! =i g8 e
Options :

1. * 1961

2. % 1966

3.4 1971

4. % 1976

Question Number : 39 Question Id : 9277596731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following person has written 'Far from the Madding Crowd'?
Options :

1. ¥ Thomas Hardy

2. % Alexander Solzhenitsyn

3. ¥ William Shakespeare

4. ¥ Somerset Maughan

Question Number : 39 Question Id : 9277596731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofifed & @ fra aafda 3 &R A g AfET wree forar 82
Options :

1. ¢ YT BTt




2. % 3fAF% AR
3. % faforgw YaaUR
4. % AT ArgT

Question Number : 40 Question Id : 9277596732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of 'Chitra'?

Options :

1. ¥ M.K.Gandhi

2. % Vishnu Sharma

3. # Kalidas

4. ¥ Rabindra Nath Tagore

Question Number : 40 Question Id : 9277596732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & RGb DI g2
Options :
1. % TH.&.IME
2. % fqwp gm@A
3. % PG
4. ¥ SIS TR

Arithmetic Ability
Group Number : 3
Group Id : 927759230
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 927759253
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759300
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277596733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What approximate value will come in the place of question mark(?) in the following question?

V2915 x 786 + 728 =2+ 8
Options :

1. %7

2. 448

3. % 548

4. % 224

Question Number : 41 Question Id : 9277596733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFafaRad v H usaras g (2) & RIM IR T food=1 /14 3

V2915 x 786 + 728 =2+ 8
Options :

1. % 7

2. ¥ 4438

3. % 548

4. % 224

Question Number : 42 Question Id : 9277596734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What approximate value will come in the place of question mark(?) in the following question?

(42.99 x 10.01) +5.02=37.03 x 1.98 + ?
Options :

1. %® 19

2.¥ 12

3.% 4

4. % 20

Question Number : 42 Question Id : 9277596734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAgferfad uy o usiara® fmg (2) & RIM TR AU fba1 A4 ST

(42.99 x 10.01) +5.02=37.03 x 1.98 + ?
Options :

1. * 19

2.¥ 12

3.% 4

4. % 20



Question Number : 43 Question Id : 9277596735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark(?) in the following question?

(14/3) of (9/7) + (6/5) x 15-10=46 - ?
Options :

1. = 34

2.9 32

3. % 42

4. % 22

Question Number : 43 Question Id : 9277596735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferfad gy o uearee g (2) & RIF IR 31 ST

(9/7) PT (14/3) + (6/5) x 15 - 10 =46 -?
Options :

1. = 34

2.9 32

3. % 42

4. % 22

Question Number : 44 Question Id : 9277596736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The greatest number of four digits which is divisible by 9, 24, 35 and 56 is:
Options :

1. ® 5760

2. % 9540

3. % 8550



4. ¥ 7560

Question Number : 44 Question Id : 9277596736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9, 24,35 3R 56 ¥ AU AR P TT T T AL B
Options :

1. ® 5760

2. % 9540

3. % 8550

4. ¥ 7560

Question Number : 45 Question Id : 9277596737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the lowest common multiple of 0.24, 0.36 and 0.40.
Options :

1. % 0.72

2. % 1.44

3. % 2.88

4.9 3.6

Question Number : 45 Question Id : 9277596737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.24, 0.36 3R 0.40 HT TYTH FHATIIH JTd DY |
Options :

1. % 0.72

2. % 1.44

3. % 2.88

4. ¥ 3.6



Question Number : 46 Question Id : 9277596738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a school, the student in Science and Commerce stream were in the ratio of 3 : 5 respectively. When 70 more students joined commerce stream
the ratio became 8 : 15. How many students are there in Science stream?

Options :
1. % 112
2.9 336
3. % 560
4, % 224

Question Number : 46 Question Id : 9277596738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T faeera o, fag SR a1forsy UdTg & S5 HHRT: 3 : 5 & urd J 31 579 70 3R BT 910y HaTg & e 81 T8 df 3T 8 ¢ 15 81
7| fag vare § fhd 8 82

Options :

1. % 112

2.¥ 336

3. % 560

4. % 204

Question Number : 47 Question Id : 9277596739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The three person A, B and C can complete the work in 40 days. If the ratio of efficiencies of A, B and Cis 3 : 2 : 5, then find in how many days A
and C together can complete (2/5)th part of that work.

Options :

1. % 15 days
2. % 16 days
3. % 25 days



4. ¥ 20 days

Question Number : 47 Question Id : 9277596739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dH G A, B3R C 40 RA A I B R IR THhd 81 (G A, B 3R C B G&fcefl BT SUM 3: 2: 58, A J1d B b A 3R ¢ fraa
I B BT (2/5) HAT fobe e & T R Al B |

Options :

1. % 15f&T

2. % 16feq

3. % 25faq

4. ¢ 20feT

Question Number : 48 Question Id : 9277596740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class, there are 25 boys and 50 girls. Each boy got pen that are 2% of the total number of girls, and each girl got pen that are 4% of the total
number of students. Then find the total number of pens in the class.

Options :
1. ® 160
2. % 200
3. % 60

4.9 175

Question Number : 48 Question Id : 9277596740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BT H, 25 TSP 3R 50 TS[HaT § | UAD TSP P! S a1 ot AS{hal Dl Hol TS BT 2% &, 3R YD ASH! bl had e Sl
HA B B AT BT 4% & | T BT H HA HAH! b AAT I B

Options :

1. % 160

2. % 200




3. % 60
4.4 175

Question Number : 49 Question Id : 9277596741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 2000 inhabitants in a City. 60% are males of whom 20% are literate. If, from all of the inhabitants, 30% are literate, then what percent
of the females of the city are literate?

Options :
1. ® 35%
2. % 40%
3. ¥ 45%
4. * 50%

Question Number : 49 Question Id : 9277596741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR H 2000 FaT &1 60% T2U & R | 20% WeR &1 3, Juit FHarRe # F 30 Trer €, @ R o Afgansit &1 fear ufawa
&R &7

Options :

1. % 35%

2. % 40%

3.9 45%

4. % 50%

Question Number : 50 Question Id : 9277596742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There were 70 employees in the IT start up company. If the number of employees increases by 14, the expense send for Refreshment increases by
Rs.84 per day while the average expenditure per head diminishes by Rs.2. Find the Original expenditure for the Refreshment?

Options :
1. # Rs. 1360



2. % Rs. 1460
3. # Rs. 1560
4. ¥ Rs. 1260

Question Number : 50 Question Id : 9277596742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IT CTE 39 HUHT & 70 HHAR ¥ | TG HHATRGT B G H 14 B IFG BT 8, AN STAU b forg Wl ST aTel o 84 $UU Ul a7 § 9
ST &, STaifor Ul safad Siyd o9 2 $UU § &H g offdl ¢ | AU o fole Jof o9 J1d 2

Options :

1. ® 1360 ¥UT

2. % 1460 3UT

3. % 1560 %UU
4. % 1260 >UU

Question Number : 51 Question Id : 9277596743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office, the average height of 36 employees is 90 feet. If 'n' employees were included whose average height was 81 feet and now the average
height of total employees is 87 feet. Find the total number of employees in an office.

Options :
1. ® 50
2.9¥ 54
3. % 60
4. % 48

Question Number : 51 Question Id : 9277596743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP AT H, 36 HHAMRA! BT S HaTs 90 WIT § | TS 'n' HHAMRA! o1 A fhar o ST fid 3ars 81 Wie ot iR 3@ $a
HUANRTT BT 3d TS 87 Bic ¢ | Th ST H HHATRG! Bt Hol e J1d Dr |

Options :



1. ® 50
2.9 54
3. % 60
4. % 48

Question Number : 52 Question Id : 9277596744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man buys a chair for Rs. 800 and sells it at a loss of 15%. What is the selling price of the chair?
Options :

1. % Rs. 620

2. ¥ Rs. 680

3. ¥ Rs. 650

4. ® Rs. 780

Question Number : 52 Question Id : 9277596744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Afad 800 TIT H T T WRIGAT § AR T 15% DI g1 IR a1 & | HuT o1 [aehd Yo o1 82
Options :

1. ® 620%UUQ

2. ¥ 680 %UUQ

3. % 650 24U

4. % 780%UU

Question Number : 53 Question Id : 9277596745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader mixes 24 kg of rice at Rs. 18 per kg with 27 kg of rice of other variety at Rs. 30 per kg and sells the mixture at Rs. 25 per kg. Find his
profit or loss.

Options :
1. ¥ Rs. 33 profit



2. * Rs. 33 loss
3. % Rs. 23 profit
4. % Rs. 23 loss

Question Number : 53 Question Id : 9277596745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AMURY 18 TUY U kg & oo & 24 kg AT B 30 BT U kg & Hed & 379 H & 27 ke Iad & A1 3T Har g iR s &1
25 ¥UQ U ke TR 91 g | STHT 1Y I1 BT I1d B |

Options :

1. % 33 d0U0 dTH

2. % 333U GIH

3. % 23%qU Y

4. % 23 ¥UTEIH

Question Number : 54 Question Id : 9277596746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is marked at Rs. 4500 and the shopkeeper allow three successive discount of 20%, 20%, 10% respectively. Find selling price of article.
Options :

1. # Rs. 2620

2. % Rs. 2592

3. # Rs. 2582

4. ® Rs. 2492

Question Number : 54 Question Id : 9277596746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T 4500 ¥UT TR fafed a1 a1 § SiR GHFER HHRT: 20%, 20%, 10% BT I HiHd T odl § | I BT (960 e J1d Hr|
Options :

1. # 2620 >UU



2.9 25923407

3. % 2582 %4l
4. % 2492 14U

Question Number : 55 Question Id : 9277596747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram invested Rs. 10000 at x% simple interest for 2 years. After 2 years, he noticed that if he has given the money on compound interest then he
would have got Rs. 144 more as interest. Find the rate of interest.

Options :
1. % 10%
2.¥ 12%
3. % 15%
4. % 20%

Question Number : 55 Question Id : 9277596747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 2 T & T x% YR 76T TR 10000 FAT HT =1 f6a11 2 T 918, I <1 (& Ife I Ihgia el IR U a1 gl o 39
S & ©q H 144 $UY 3R HTd | SO &R 1 B

Options :

1. % 10%

2. ¥ 12%

3. % 15%

4. % 20%

Question Number : 56 Question Id : 9277596748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a circular bed we need to plant some plants allowing 11 sq. cm for each plant. If the outer edge of circular bed measure 44 cm, how many
plants can be planted in it? (use & = 22/7)

Options :



1. #= 18
2. %75
3.¥ 14
4. % 12

Question Number : 56 Question Id : 9277596748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JAIHR T H g8 $ U8 AU a3 8 Fo T Ude Uid & AU 11 sq. om BT 8 | Al TAHR UG BT S18<1 TR BT AT 44 em B,
A 3T foram 01 MG fpT S 9ha 82 (n = 22/7 BT YA HN)

Options :

1. # 18

2. % 75

3.9 14

4. % 12

Question Number : 57 Question Id : 9277596749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A farm house can be built by a number of workers in 22 days. While their 3 workers were absent, so it took 24 days to complete the work. What
was the actual number of workers?

Options :
1. % 72
2. % 24
3.¥ 36
4. % 40

Question Number : 57 Question Id : 9277596749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

22 &7 & %3 4 iP! GRT U WTH B3 ST Sf Wohdl & | SIaidh 3 3 HHART SIURIT ¥, T HH R B | 24 fo a1 | 4!

&1 IR =T =7 A2




Options :
1. % 72
2. % 24
3.¥ 36
4, % 40

Question Number : 58 Question Id : 9277596750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A boat can row 56 kmph in still water. It takes thrice as long to row up as compared to rowing down in the river.

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 14 km/hr

2. 28 km/hr

3. 21 km/hr

4. 56/3 km/hr

Question Number : 58 Question Id : 9277596750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 19 FRR 1 H 56 kmph Bt 7T T B Il g1 T H YRT S UAGA ST H 4RI & 3Hd o ¥ 14 T 3% THg T g |
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 14 km/hr

2. 28 km/hr

3. 21 km/hr

4. 56/3 km/hr



Question Number : 59 Question Id : 9277596751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar given below shows number of male and female employees of five branches of an MNC.
What is the difference between average number of male employees and average number of female employees of the five branches taken together?

® Male Employees Female Employees
3500 -

3300
3000
m = 2?”
2500
2000 - 1800
1500
1500 - 1200
1000
1000 -
500 -
0
D E

A B [
Branches

Number of male and female
employees of an MNC

kK

Options :
1. % 1400
2. % 400
3.9 280
4. % 138

Question Number : 59 Question Id : 9277596751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fear mar IR MNC B Ui TrRaTsit & g3 SR Afge eHaral &1 ' i a=idl g |
Ui XT3 o J3N HHANRAT BT S WeAT 3R AfGal HHATRal Bt 3Hd WS & dd B SR fa 62



"UEUHHARI = AfgETHHARt
3500 -~

3000 +

2700

2500 4

2000 4 1800

1500 -

1000 A

500

TH MNC T T 2TRanail &
St afsen prafedt o
g

Options :
1. % 1400
2. % 400
3. % 280
4. % 138

Question Number : 60 Question Id : 9277596752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the distribution of buyers of different products.
100 Laptop buyers are females. Male buyers of Laptops are approximately what percent of total buyers of Laptops?



Total buyers of five products is 1700

Options :
1. % 71%
2. % 82%
3. ¥ 76%
4. % 65%

Question Number : 60 Question Id : 9277596752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTe =7¢ fIftre Il & TWeR) & faaR0 &l g=iar g
100 TUETT WRIGR ARETY €| AU & J3Y WRIGR AU & $ol WRIGRI BT TRTHT fbd= f=rd g7
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Options :
1. % 71%
2. % 82%
3. ¥ 76%
4. % 65%
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General English
Section Id : 927759254
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Question Number : 61 Question Id : 9277596753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It's a scene that / really packs a wallop / because its believable.
Options :

1. # It's a scene that

2. % really packs a wallop

3. ¥ because its believable.

4. % No Error

Question Number : 61 Question Id : 9277596753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

It's a scene that / really packs a wallop / because its believable.
Options :

1. #® It's a scene that

2. # really packs a wallop

3. % because its believable.

4. ® No Error

Question Number : 62 Question Id : 9277596754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

I stayed staring at him until / he's out of sight, before giving / myself a hefty mental kick.
Options :

1. ¥ I stayed staring at him until

2. % he's out of sight, before giving

3. # myself a hefty mental kick.

4. ® No Error

Question Number : 62 Question Id : 9277596754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

I stayed staring at him until / he's out of sight, before giving / myself a hefty mental kick.
Options :

1. ¥ 1 stayed staring at him until

2. % he's out of sight, before giving

3. % myself a hefty mental kick.

4. # No Error



Question Number : 63 Question Id : 9277596755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

I was (intending to) my honourable friend with respect to the reply that I gave some moments ago.
Options :

1. # eluding to

2. ¥ referring to

3. % hinting to

4. # No correction required

Question Number : 63 Question Id : 9277596755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

I was (intending to) my honourable friend with respect to the reply that I gave some moments ago.
Options :

1. # eluding to

2. ¥ referring to

3. # hinting to

4. # No correction required

Question Number : 64 Question Id : 9277596756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the right synonym for "abduct."
Options :

1. # Kill



2. ¥ Kidnap
3. # Deceive

4. # Ravage

Question Number : 64 Question Id : 9277596756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the right synonym for "abduct."
Options :

1. # Kill

2. ¥ Kidnap

3. # Deceive

4. ¥ Ravage

Question Number : 65 Question Id : 9277596757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Now in her senior year she had the to take it easy.

Options :

1. # difficulty

2. # interpretation
3. % consultation
4. ¥ leisure

Question Number : 65 Question Id : 9277596757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Now in her senior year she had the to take it easy.

Options :



1. # difficulty

2. # interpretation
3. % consultation
4. ¥ leisure

Question Number : 66 Question Id : 9277596758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

Powered by infrared lasers, the surface reflects and focuses this laser beam into a ring.

Options :

1. # dusky
2. ¥ shiny

3. % drizzly
4. % daunting

Question Number : 66 Question Id : 9277596758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

Powered by infrared lasers, the surface reflects and focuses this laser beam into a ring.

Options :

1. % dusky
2. ¥ shiny

3. % drizzly
4. # daunting

Question Number : 67 Question Id : 9277596759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts



can be rearranged to form a meaningful and grammatically correct sentence.
The boundary between the

P. called the "Lehmann discontinuity",

Q. refers to another discontinuity,

R. although the name usually

S. inner and outer cores is sometimes

which has been named after K. Bullen.
Options :

1. ¥ PQRS

2. % SPRQ

3. ¥ RPQS

4. % QSPR

Question Number : 67 Question Id : 9277596759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The boundary between the

P. called the "Lehmann discontinuity",
Q. refers to another discontinuity,

R. although the name usually

S. inner and outer cores is sometimes

which has been named after K. Bullen.
Options :



1. ¥ PQRS
2. ¥ SPRQ
3. ® RPQS
4. % QSPR

Question Number : 68 Question Id : 9277596760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Owing to their remoteness, the islands of New Zealand were the last large habitable lands to be settled by humans.
P. In 1642, the Dutch explorer Abel Tasman became the first European to sight New Zealand.

Q. Between about 1280 and 1350, Polynesians began to settle in the islands and developed the Maori culture.

R. In 1841, New Zealand became a colony within the British Empire.

S. In 1840, representatives of the United Kingdom and Maori chiefs signed the Treaty of Waitangi, which declared British sovereignty over the
islands.

In 1907 it became a dominion; it gained full statutory independence in 1947.
Options :

1. # RSPQ

2. ¥ QPSR

3. % SQRP

4. % PQRS

Question Number : 68 Question Id : 9277596760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Owing to their remoteness, the islands of New Zealand were the last large habitable lands to be settled by humans.



P. In 1642, the Dutch explorer Abel Tasman became the first European to sight New Zealand.
Q. Between about 1280 and 1350, Polynesians began to settle in the islands and developed the Maori culture.
R. In 1841, New Zealand became a colony within the British Empire.

S. In 1840, representatives of the United Kingdom and Maori chiefs signed the Treaty of Waitangi, which declared British sovereignty over the
islands.

In 1907 it became a dominion; it gained full statutory independence in 1947.
Options :

1. % RSPQ

2. ¥ QPSR

3. ¥ SQRP

4. % PQRS

Question Number : 69 Question Id : 9277596761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. ¥ SIEZE

2. % COCOON

3. # PSORIASIS

4. ®# MOISTEN

Question Number : 69 Question Id : 9277596761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. ¥ SIEZE

2. % COCOON



3. ¥ PSORIASIS
4. % MOISTEN

Question Number : 70 Question Id : 9277596762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

BELLICOSE
Options :

1. # PACIFISTIC
2. %

PASSIVE

3.¢
THREATENING

4. %
STEADINESS

Question Number : 70 Question Id : 9277596762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

BELLICOSE
Options :

1. # PACIFISTIC
2. %

PASSIVE

3.¢
THREATENING
4, ®
STEADINESS

Question Number : 71 Question Id : 9277596763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

PROPENSITY
Options :

1. %
DISINCLINATION
2. % INADEQUACY
3. %

ANTIPATHY

4. ¥ BIAS

Question Number : 71 Question Id : 9277596763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

PROPENSITY
Options :

1. #
DISINCLINATION
2. ¥ INADEQUACY
3. %

ANTIPATHY

4. ¥ BIAS

Question Number : 72 Question Id : 9277596764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

BANAL
Options :



1. * DUMB

2. ¥ SHARP

3. ¥ COMMON
4. % SIMPLE

Question Number : 72 Question Id : 9277596764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

BANAL
Options :

1. * DUMB

2. ¥ SHARP

3. ¥ COMMON
4. % SIMPLE

Question Number : 73 Question Id : 9277596765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Creation of exclusive custom-fitted clothing.
Options :

1. % Acture

2. ® Feature

3. ¥ Couture

4. % Limature

Question Number : 73 Question Id : 9277596765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.



Creation of exclusive custom-fitted clothing.
Options :

1. % Acture

2. % Feature

3. ¥ Couture

4. % Limature

Question Number : 74 Question Id : 9277596766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom for the given sentence.

Feeling nervous or scared.
Options :

1. # As keen as mustard.

2. ¥ Heart in mouth.

3. % A smart cookie.

4. % To play ducks and drakes.

Question Number : 74 Question Id : 9277596766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom for the given sentence.

Feeling nervous or scared.
Options :

1. # Askeen as mustard.

2. ¥ Heart in mouth.

3. % A smart cookie.

4. # To play ducks and drakes.



Question Number : 75 Question Id : 9277596767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Hunger is the best sauce.

Options :

1. ¥ Food tastes better when one is hungry.

2. # Hungry man understands the value of money.
3. % Hunger is the best lesson.

4. ¥ Sometimes lessons are learnt the harder way.

Question Number : 75 Question Id : 9277596767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Hunger is the best sauce.

Options :

1. ¥ Food tastes better when one is hungry.

2. % Hungry man understands the value of money.
3. # Hunger is the best lesson.

4. % Sometimes lessons are learnt the harder way.

Sub-Section Number : 2
Sub-Section Id : 927759302
Question Shuffling Allowed : Yes

Question Id : 9277596768 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.



There have been many ideas over time and across different cultures of what the feminine beauty ideal is for a woman's body image. How well a
woman follows these beauty ideals can also influence her social status within her culture. Physically altering the body has been a custom in many
areas of the world for a long time. In Burma, Padung girls from the age of about five years, have metal rings put around their necks. Additional
rings are added to the girl's neck every two years. This practice is done to produce a giraffe-like effect in women. This practice is dying out, but
these women would eventually carry up to 24 rings around their necks. A neck with many rings was considered the "ideal" image of physical
beauty in this culture. In Europe, the corset has been used over time to create a tiny waistline. This was considered "ideal". A practice in China
involved a girl's feet being bound at age six to create the "ideal" image of feet. The girl's feet were bound to become 1/3 the original size, which
crippled the woman, but also gave her a very high social status and was much admired. After the revolution of 1911, this practice of foot binding
was ended. The idea of what is considered the ideal of beauty for women varies across different cultural ideals and practices. The desire for skin-
lightening is a common social practice among women of Asian, South-East Asian and African descent. Today the dominant beauty standard is
deeply rooted in obtaining or possessing lighter skin within these societies.

Sub questions

Question Number : 76 Question Id : 9277596769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate heading for the passage from the given options.
Options :

1. # Unfair practices in the World.

2. ¥ Body Image

3. * Feminism

4. ¥ The patriarchal society

Question Number : 77 Question Id : 9277596770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After the revolution of the practice of foot binding was ended. Select the correct option.

Options :
1. % 1921
2. % 1914
3. % 1919
4.+ 1911

Question Number : 78 Question Id : 9277596771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option that is similar in meaning to the underlined words 'Physically altering the body has been a custom... ' from the given options?

Options :

1. ¥ Changing the appearance.
2. % Plastic surgery

3. # Reducing waistline.

4. % Perfect body image

Question Number : 79 Question Id : 9277596772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. In China a woman acquired a very high social status if her feel were small which was done by a technique called foot binding.
B. The way a woman follows the beauty ideals or standards influence her social status in her respective culture.

C. In Australia, the corsets have been used to reduce waistline, which is considered ideal in the region.
Options :

1. % Only A is correct.

2. % Only B is correct.

3. ¥ A & B are correct, C is incorrect.

4. % All are incorrect.

Question Number : 80 Question Id : 9277596773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is similar in meaning to the underlined words 'Today the dominant beauty standard is deeply rooted...' from the given
options?

Options :

1. # Required standard of beauty

2. # Most ideal beauty measure

3. % Most used beauty code

4. ¥ The most prevailing beauty ideal



Question Id : 9277596768 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

There have been many ideas over time and across different cultures of what the feminine beauty ideal is for a woman's body image. How well a
woman follows these beauty ideals can also influence her social status within her culture. Physically altering the body has been a custom in many
areas of the world for a long time. In Burma, Padung girls from the age of about five years, have metal rings put around their necks. Additional
rings are added to the girl's neck every two years. This practice is done to produce a giraffe-like effect in women. This practice is dying out, but
these women would eventually carry up to 24 rings around their necks. A neck with many rings was considered the "ideal" image of physical
beauty in this culture. In Europe, the corset has been used over time to create a tiny waistline. This was considered "ideal". A practice in China
involved a girl's feet being bound at age six to create the "ideal" image of feet. The girl's feet were bound to become 1/3 the original size, which
crippled the woman, but also gave her a very high social status and was much admired. After the revolution of 1911, this practice of foot binding
was ended. The idea of what is considered the ideal of beauty for women varies across different cultural ideals and practices. The desire for skin-
lightening is a common social practice among women of Asian, South-East Asian and African descent. Today the dominant beauty standard is
deeply rooted in obtaining or possessing lighter skin within these societies.

Sub questions

Question Number : 76 Question Id : 9277596769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate heading for the passage from the given options.
Options :

1. ®* Unfair practices in the World.

2. ¥ Body Image

3. * Feminism

4. % The patriarchal society

Question Number : 77 Question Id : 9277596770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After the revolution of the practice of foot binding was ended. Select the correct option.

Options :
1. % 1921



2. % 1914
3. % 1919
4.4 1911

Question Number : 78 Question Id : 9277596771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is similar in meaning to the underlined words 'Physically altering the body has been a custom... ' from the given options?

Options :

1. ¥ Changing the appearance.
2. % Plastic surgery

3. # Reducing waistline.

4. % Perfect body image

Question Number : 79 Question Id : 9277596772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. In China a woman acquired a very high social status if her feel were small which was done by a technique called foot binding.
B. The way a woman follows the beauty ideals or standards influence her social status in her respective culture.

C. In Australia, the corsets have been used to reduce waistline, which is considered ideal in the region.
Options :

1. % Only A is correct.

2. % Only B is correct.

3. ¥ A & B are correct, C is incorrect.

4. % All are incorrect.

Question Number : 80 Question Id : 9277596773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is similar in meaning to the underlined words "Today the dominant beauty standard is deeply rooted...' from the given




options?

Options :

1. ¥ Required standard of beauty

2. # Most ideal beauty measure

3. % Most used beauty code

4. ¥ The most prevailing beauty ideal
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Question Number : 81 Question Id : 9277596774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRad Uy |, IR fadwel 7 ¥, 39 fdded &1 9949 &3 o1l fGT U Teg & ol GfY-fawse & fddwed gl
Hoyd

Options :

1. % 78 + o

2. % HE+Uyd
3. Tl + Ul
4. % HET+ SR

Question Number : 81 Question Id : 9277596774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeiad Uy & IR fabedl & T, 39 f9beu &1 999 &L ot faT U Wsg & I - w1 fapeu gl
Teyd

Options :

1. % 7g + o

2. % HE + Uyl
3. ¢ Tl + Uyl
4. % g1+ 340

Question Number : 82 Question Id : 9277596775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifaa uy o, OR el # 9, 39 fahed &1 99+ & off fou TN Weg & forg et &7 Ta & v &1 faweu il
LINGE

Options :




1. % g dd

2. % g HIda

3. % GA BT I

4. ¢ TId 7 BT AR

Question Number : 82 Question Id : 9277596775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed oy 8 IR el § 9, 39 e & 9g- &3 S 3T U Teg 3 forw It fev garg & fore &1 faseu 8l
BINGE

Options :

1. % grd da

2. % I BT dF

3. % dF H1I

4. ¢ IId A DT JHER

Question Number : 83 Question Id : 9277596776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o, IR fadedl O 9, 39 fadhed &1 997 B Sl ST Y § eg 1 ol [ddhed T8l 81|
Options :

1. % gRdd

2. ¢ Bfdd

3. % qIUy

4, % A4d1

Question Number : 83 Question Id : 9277596776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 fahcu &1 97 &% o ST I 59 st BT Ta! fabey a1 87|




Options :

1. % gurfed
2. ¥ Wield
3. % {qI0Yg
4, % 4dl

Question Number : 84 Question Id : 9277596777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, IR fadwenl O 9, 39 [adhed &1 70 &1 S faU 10 Xes-J & Ta! 31 are fawed g1

Yh-R[hd
Options :

1. % RIdheRI-HI
2. % FAAH-deHTS!
3. ¢ dAIS-HAE
4, % JfTATAI-STTS!

Question Number : 84 Question Id : 9277596777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us o, IR fadwenl O 9, 39 fadhed &1 797 1 S faU 70 Wss-g & Tat o1 aretl fdwed gl

YBC-THS
Options :

1. % fadeheRI-HaM
2. % godH-SaTS!
3. ¢ SAS-HIH
4. % JTATAT-STTS!

Question Number : 85 Question Id : 9277596778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR fowddl 7 9, 39 fawey &1 9g7 3 o) AT 17U ee & vafgareh Wee &1 Ug! faswe 78l 3|

gl
Options :

1. % fHged
2. ¥ Ulddh
3. % quf

4. % U9

Question Number : 85 Question Id : 9277596778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaiad Uy & IR foedl ° T, 39 ey &1 Tu &1 oY T U Wsg & TaiaT=! e o1 T8t ey 781 g

Ui
Options :

1. % forgery
2. ¥ (idd
3. % gof

4. % U7

Question Number : 86 Question Id : 9277596779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR eeal 7 9, 39 fawcu &1 987 &% ot fAdiA Weg &1 a9 331 faheu g |
CIEIRiE

Options :
1. % Ha

2. % P
3. ¢ 3T




4. % 3y

Question Number : 86 Question Id : 9277596779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ereal 7 9, 39 fahcd o1 987 & o fAdiH Wsg &1 e 331 faheu g |
CIEIRE

Options :
1. %
2. % HiIg
3. ¢ SIS
4. % 3y

Question Number : 87 Question Id : 9277596780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR [ddeul 7 ¥, 39 I8! f[dmed &1 99+ B3 Sl d1aiR & ol U Xeg, &l [ddhed Bl |
3fe T 3fd a&

Options :

1. ¢ 3T
2. % Ut
3. % 3fTdrA

4. % 3fTfaan

Question Number : 87 Question Id : 9277596780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeiRad Uy #, IR Al 7 9, 39 I8! f[dwed &1 I B3 Sl ITaiRN o ol U e, &1 f[ddhed gl
3fe ¥ sid a&




Options :

1. ¢ 3T
2. % Ut
3. % 3fTdrA

4. % 3refaan

Question Number : 88 Question Id : 9277596781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR foedl ° T, 39 ey &1 T+ &3 S WifelT U aral [dw ey 2|

Options :
1. ¥ HHR
2. % BIg
3. % dYUdR
4. % 4

Question Number : 88 Question Id : 9277596781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 9, 39 faweu o1 gg7 & St Wilfel =0 are fawbeu g1

Options :
1. ¥ HHR
2. % Blg
3. % gYdR
4. % 9

Question Number : 89 Question Id : 9277596782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, aR fawedl & T, 39 faswey &1 999 &3 Sl fAU U Wsg & §gde- U &1 Ja 351 [ddhe g

Rl

Options :
1. % ddol
2. ¥ WSl

Question Number : 89 Question Id : 9277596782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad ue o, TR fawent § 9, 39 fawey &1 7o &3 S foU T8 Wsg & dgaeH U &1 Jad 331 fadhed ]

Rl

Options :
1. % ddof
2. ¢ RIS

Question Number : 90 Question Id : 9277596783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § 9, 39 fadhed &1 984 & ol HIFS | faU T et & AR T & NG &1 9| [dhed g
H (3rgefh TS § SR

Options :
1. # YYddd



2. % [Hygars
3. % Jdydrded
4. ¢ FdrE®

Question Number : 90 Question Id : 9277596783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawed &1 999 &3 ol HIFH | [T 7T Ueg & AR I & U &1 el fadhed g
H (3gh TS § SR

Options :

1. % UYdrde
2. % (Aygara®
3. % dYdrah
4. ¢ SRS

Question Number : 91 Question Id : 9277596784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufoRad Uy |, IR fadedl 7 ¥, 39 fdwed &1 999 &3 1 ol d1a0 He &l f[ddbed gl
T8 g @ TS R, A o i TS B

Options :

1. ¢ Igad a1
2. % SRIATHD
3. % O dIH]
4. % fog qrey

Question Number : 91 Question Id : 9277596784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy §, IR el 7 9, 39 fawed &1 997 &3 St Igl a1 U &1 fdbeu gl




3 g @ TE R, A 3 e TS B
Options :

1. ¢ Ggad aIrd

2. % JATIDh

3. % IR dI

4. % Ay IR

Question Number : 92 Question Id : 9277596785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRed us o, IR fasbedl # 9, I fddhed &1 9= B Sl favH g god a1 &1 el fddbed |
Options :

1. ® SORHR YIS SNt A Hgl- ofia- 3y &t Jufy g

2.« TUYHR YT St A T, "Sita fay o1 gufy g

3. % SIRIHR YT Sff 3 Fal, "Sia- fay ! Jufy g

4. % SURIBR TS it A BT, Sfia 9y Bt JufRy g

Question Number : 92 Question Id : 9277596785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy O, IR fawedl O 4, 39 faded &1 o+ &< SNt R forg god a1 &1 Aat fdded gl |
Options :

1. % SRR YIS off 3 Hgl- SitaH 3% &1 YU g

2.  STIRIBR UATG St A wel, "ot fay o gufyg)

3. % SIORH YIS St 2 HgT, "t 9y ot Jufy g

4. % STORHR TS SNt A Hgl, Siia- 3y &) Jufr g

Question Number : 93 Question Id : 9277596786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufafad vy A, IR ol § B, I fawmey &1 T & 5t feu 77U diifad o1 Tat 3 aran fasey g1
I 91 el P -

Options :

1. % fHdt Y DIg AdAT = G
2. % oot T DT SR A BIHT
3. % 9O s

4. ¢ fquId BT A7 TR HAT

Question Number : 93 Question Id : 9277596786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiiad uy & IR foeeal ° T, 39 ey &1 Ta &1 oY T U Aipifad o1 gt 3 aran faseu g |
I T Al Bl -

Options :

1. % {5t § IS gaad 7 3G
2. % {3l @AY Dt SMRT A BT
3. % O s

4. ¢ TIURd ST a1 TR0 HRA

Question Number : 94 Question Id : 9277596787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy &, IR fawedl § 9, 39 fadhed &1 9a9 & ol &1 715 GeTaX T Ja! o g fadwed g1

3T GURT ST -

Options :

1. % TR i I

2. % RI AT

3. ¢ Tollefl Hd-hRd Y SIT
4. % TIc AT




Question Number : 94 Question Id : 9277596787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy &, aR fawedl § 9, 39 fadhed &1 9a & ol &1 715 GeTaX &1 Ja! o a1 fadwed g1

3T GURT ST -

Options :

1. % TR i I

2. % TR

3. ¢ Tollefl Hd-hRd Y SIT
4. % 9ic

Question Number : 95 Question Id : 9277596788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & aR fawedl § 9, 39 fawed &1 Tg9 &3 ot &t 718 GeTaX &1 Ja! 3 arar fadwed ]

30T g Fe BT -
Options :

1. % §gd SHaT gl

2. ¢ 3O WY RiIg AT
3. ® 3{UAT Bl Jh UM Al
4. % §gd UG g

Question Number : 95 Question Id : 9277596788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy &, aR fawedl § 9, 39 fadhed &1 989 & ol &1 715 JeTaX T Ja! o g fadwed g1

3T I AT BT -
Options :




1. % §gd &Hal gl
2. ¢ ST WY R dxer
3. % UGl THYUM HIAT

4. % §gd YA g

Sub-Section Number : 2
Sub-Section Id : 927759304
Question Shuffling Allowed : Yes

Question Id : 9277596789 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

I feu T e & 91 5 U feu T B

Y TRII &1 YD Ue 3R IR fadmedi § ¥ Ud® Uy &1 qarad R gA |

W] TR T W KT 61 I 81T & | 3T (o8 A 1 AFRIS T ¥ 3R ARG U 1 81 ThR J W gHT1 AN | WY
AHRTSA 8 T THIS DI oFH ol ¢ | A 1 Y& A1d 15 @ioll I o H Gl 6 | TIBT SRR Had Hiad (9= TR 1 el a1 JH, S,
T, 98 R YA 0 A USdl & 3R 39 [T HIS b1 Guicar 30 fraRYRT &1 e Rid =1 81| SR & b Ueb quf ou 4 Wi
fad g 30 Sitaa & d&dl Bl TR B Thdl § 3R Y- URAR T YU & aIdIaR0l & SHfed HR Fabal g | JRI! TRURTY Td
el &1 TN B A3 [ABTT UGfd ol 51 <A1 Rl

Sub questions

Question Number : 96 Question Id : 9277596790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W AT & 7T 1 §HT SHTaR g 2
Options :

1. ¢ W TRR

2. % WY YIoH

3. % W gIfaRTl

4. % TR AR

Question Number : 97 Question Id : 9277596791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fhgehT THTT Phad Afad AU IR & 781 91 JHIS, X, Wifd, I6 R I ©U T TS 82
Options :

1. % SUTT & AN

2. ¥ Y U

3. % W= JHNS

4. % OFR® 3R IR fezarar

Question Number : 98 Question Id : 9277596792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TRE & AR DI U Sia & A&l DI IU1 = I g B Ahell 52
Options :

1. % 3R ol

2. % RIS HHERIBA BT Aok

3. ¢ W HfeRd

4. % QI Bl DI A dTer

Question Number : 99 Question Id : 9277596793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S0 q HH-U1 W HT faay Teg 82
Options :

1. ¢ 0]

2. % {dHd

3. % dgod

4. % =

Question Number : 100 Question Id : 9277596794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3G B Plg IUYad XY D-




Options :

1. % fdd R gHd
2. ¥ W AR
3. % fqaRYRT

4. % OHR®S 09

Question Id : 9277596789 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

= fRu T MR & 91g s Uy RRT A €

Y TR &1 AFYGH Ug 3R IR fadhed H ¥ Udd U4 &1 garad SR g |

TR TR T W AR &1 a1 g | P oY 7S 1 AR @u@fsﬁ?WW?ﬁﬁTﬁtﬁ UhR Y W T Mg | WY
ORI B TS JHTS B o odl & | TS B Y ATd 718 Wioll ! o H ol ¢ | SHDT 3R Had iad o= TR & Ta] ax- JHI, o,
I, 96 R GHM ¥0 A USdl & 3R 39 (07T A 1 Guiadr 301 fIaRYRT &1 fddRid =1 8RN SiifeR & i T i ¥u ¥ Wi
ST &) ST e % Tedl Y BTRIT R el & SR S0 URAR Td SR P GATGRYI B ST B Fahell 2| R TR TG
el BT AT B T3 fIBTT UGl ol 51 A1 g1

Sub questions

Question Number : 96 Question Id : 9277596790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W AT & foTQ 1 T 3TaRah © 2
Options :

1. ¥ W |WR

2. % TR HIH

3. % W UYIaRO

4. % WA

Question Number : 97 Question Id : 9277596791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fhgehT THIT Phad afad AU IR & 781 91 JHIS, e, WIfd, I6 R IAH &U T ISl 82




Options :

1. % 3{IUN & TN
2. I

3. % W= JHIS

4. % AHERTS R IR f@man

Question Number : 98 Question Id : 9277596792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STEE B TR DI 3T Sita- & A& DI gUf T I BRI I Jhal 67
Options :

1. % 3RAR HAfer

2. % RIS HHRIB BT AR

3. ¢ W HfR]

4. % QI Bl DI A arel

Question Number : 99 Question Id : 9277596793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
20 Y B IH-91 WX BT f3alIH g 32
Options :

1. #5100

2. % YcHd

3. % dgod

4. % =TT

Question Number : 100 Question Id : 9277596794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 RGPl Dlg JUGad oe-
Options :

1. % offdd R YHTd




2. ¢ W ARG
3. % [JIRYRT
4. % AR I

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 9277596795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Disciplinel

6
927759233
0

0

No

No

0

20

No

Disciplinel

927759256
1

Online
Mandatory
20

20

20

Yes

1
927759305
Yes



Correct Marks : 1 Wrong Marks : 0.25

Graph of given equation y = (x-1)? (x-2) is decreases where
Options :

1. % 0<x<I

2. % x>5/3

3. 1 <x<5/3

4. % x<0

Question Number : 101 Question Id : 9277596795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu T IR y = (x-1) (x-2) BT UTH el § S50
Options :

1. % 0<x<1

2. % x>5/3

3.¢ 1 <x<5/3

4. % x<0

Question Number : 102 Question Id : 9277596796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Graph of the curve y = 3x? - 2x3 is concave down when
Options :

1.¥ x>

2. % x<'n

3.% x<!

4. % x <V,

Question Number : 102 Question Id : 9277596796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
b y = 3x2 - 2x* BT UTH (2 B R 3add gid1 & o




Options :
1.¥ x>
2. % x<l
3. % x<
4. % x <,

Question Number : 103 Question Id : 9277596797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The graph of the equation r=sin 3 0 is
Options :

1. ®* Four leaved Rose

2. # Cardioid

3. % Spiral

4. ¥ Three leaved Rose

Question Number : 103 Question Id : 9277596797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THIBT r=sin 3 0 BT ATH %

Options :

1. % R fefeg s

2. % PISaHss

3. % gitd

4. 31 fereg IS

Question Number : 104 Question Id : 9277596798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f(-x) = f(x) for all x in the domain , then f(x) is , even and symmetric about the y axis -

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. odd

2. even

3. rational

4. irrational

Question Number : 104 Question Id : 9277596798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e guEaT B @l x F R A =fx) 8, A fx) T6TaP fdb y o1&l & IR H 9 iR YA © -
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. fasg

2. 94

3. UREg

4. SURTY

Question Number : 105 Question Id : 9277596799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Revolve a piece of the straight line y = 2x around the x - axis then surface area generated by revolving the curve between x =0 and x = 1 is
Options :

1. % 3m\5

2. ¥ 215

3. % V5

4. % 4m\s



Question Number : 105 Question Id : 9277596799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x-31& &b ARY 3R WA @ y = 2x & Th Ths B AL A x = 0 3R x = 1 P S dh P! FHIDHR 30T g &8 &
Options :

1. % 3mV5

2. ¥ 2m\5

3. % 5

4. % 4m\5

Question Number : 106 Question Id : 9277596800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series >, Cos (1/n) is:

Options :

1. # Convergent

2. ¥ Divergent

3. ® Cauchy

4. % Conditionally convergent

Question Number : 106 Question Id : 9277596800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

/AT Cos (1/n) § -
Options :

1. % SRy

2. ¢ JOORY

3. % PHEf

4. ® HISYA HIdoic

Question Number : 107 Question Id : 9277596801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The value of 'a' for which given vector f= (x + 2y) i +(y - 3x)j + (x +az) k is solenoidal.

Options :

l.¥ a=-2
2. % a=-3
3.%a=2
4. % a=3

Question Number : 107 Question Id : 9277596801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 &1 A 5 e feam man afewr £= (x + 2y) i +H(y - 3x)j + (x +az) k AI3ed g

Options :

l.¥a=-2
2. % a=-3
3.% a=2
4. % a=3

Question Number : 108 Question Id : 9277596802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the work done in moving a particle once round a circle C in the XY plane, if the circle has its centre at the origin and radius 2 units and the
force field is given as F =(2x-y+2z)i+ (x+y-z)j + (3x-2y-52)k .

Options :

l. % 2n

2. % 4n

3. 8n

4. % lén

Question Number : 108 Question Id : 9277596802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e g B g Jd g W g 3R 351 2 THTE § SR T &7 F =(2x-y+22)i+ (x +y-2)j + (3x-2y-52)k b U H G T8 O XY THaA & g
C & IR 3R A Hor H far a1 S 71 B |

Options :

1. % 2n

2. % 4x

3.9 8n

4. ® 161

Question Number : 109 Question Id : 9277596803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If n and m are natural numbers then the equation. (ZEC) Zr=1+1, Zm =2 -1
Options :

1. # Have two common solution

2. # Have one common solution

3. % Have no common solution

4. % Have more than two common solution

Question Number : 109 Question Id : 9277596803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS n 3R m UTPHd WA § o THIBRT| (ZEC) Zn =1+, Zm =2 - i
Options :

1% QIHERITA§

2. % TP UHI g ©

3. ¢ BYS G FHIY 81 &

4. % Y HYS AHFIEA§

Question Number : 110 Question Id : 9277596804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Z =(5+2i)n+ (5 -2i)n,n € N then which of the following option is correct.
Options :

1. # Zis Real for odd n

2. # Zis Real for even n

3. # Z is Purely imaginary

4. ¥ 7 is Real for all Naturals

Question Number : 110 Question Id : 9277596804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Z=(5+2i)n+ (5 - 2i)n, n € N I Fufifad & &9 91 fasey gt 3|
Options :

1. % 7 faud n & forT IRafas §

2. % gHn P o0 7 aRafa® g

3. % 7 fox[g U Y HTUHD §

4.« 9 Ugd & oY z arafa® §

Question Number : 111 Question Id : 9277596805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"The intersection of two equivalence relations on a non-empty set A is an equivalence relation" the given statement is:
Options :

1. ¥ Always True

2. % Always false

3. % Not true for some set

4. % True only for some set

Question Number : 111 Question Id : 9277596805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH HRad Tg A R &) goddl Sadl o1 Ufdwed U doddl YaY g a1 a1 HYH 3




Options :

1. ¢ ORI

2. % UM 3

3. % B I=T & R IT T R
4. % Had P =T & AU TA §

Question Number : 112 Question Id : 9277596806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let A={1,2,3,4,5},and let R = {(1, 1),(1, 3),(1, 4),(2, 2),(2, 5),(3, 1),(3, 3),(3, 4),(4, 1),(4, 3),(4, 4),(5, 2),(5, 5), (5,1) (1,5)} be an equivalence
relation on A. Which of the following is an equivalence class?

Options :

1. % {1,2,3}

2. % {2,3,5}
3.9 {1,3,4}

4. % {1,2,3,4,5}

Question Number : 112 Question Id : 9277596806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fr A= {1,2,3,4,5}, RAFAfFR = {(1, 1),(1, 3),(1,4),(2,2),(2,5), (3, 1),(3, 3),(3, 4),(4, 1),(4, 3),(4,4),(5, 2),(5,5), (5,1) (1,5} A
W U TP da-g da¢ g1 | Fufiiad & 9 oF 91 tfd a3 g 82

Options :

1. % {1,2,3}

2. % {2,3,5}

3. {1,3,4}

4. % {1,2,3,4,5}

Question Number : 113 Question Id : 9277596807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If ¢(n) is Eular's phi function then which of the following option is correct;



Options :

1. % ¢(n) is even for all n
2. % $(n) is even n>2

3. % ¢(n) is odd n>2

4. % {(n) is odd for all n

Question Number : 113 Question Id : 9277596807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfE (n) IR BT phi TeT g ol FHTIRGT H A DI A1 fdched a1 &;
Options :

1. % ¢mn), g nF orTTT 3

2. ¢ §(n) GH G n>2

3. % §(n) fAUH g n>2

4. % §(n) gt n & T fawm 8

Question Number : 114 Question Id : 9277596808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of zeros in 100! is:

Options :

1. % 25

2. %100

3. % 1000

4. ¥ 24

Question Number : 114 Question Id : 9277596808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
100! T I BT HBAT T Dhr-
Options :




1. % 25
2. % 100
3. % 1000
4.9 24

Question Number : 115 Question Id : 9277596809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A prime p can be written as the sum of two squares if
Options :

1.¥ p=2orp=1(mod4)

2. % p=1lorp=2(mod4)

3. % p=4orp=1(mod4)

4. % p=3orp=1(mod4)

Question Number : 115 Question Id : 9277596809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 3HST p DI &1 a¥ll & AT & =0 H forar o gopar g afe
Options :

1.¥ p=2Tlp=1(mod4)

2. % p=1Tp=2(mod4)

3. % p=43lp=1 (mod 4)

4. % p=3Up=1(mod4)

Question Number : 116 Question Id : 9277596810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If each Row sum of A is o then each row sum of Ak is ;
Options :

1. #® ak



2. % otk
3. % a-k
4, & gk

Question Number : 116 Question Id : 9277596810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i A B UAD A BT ART o 8 I Ax DI UUD 3 BT AN ;
Options :

1. % ok

2. % otk

3. % o-k

4. ¥ gk

Question Number : 117 Question Id : 9277596811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A is nXn is involutory matrix, then product of all eigen value is:
Options :

1. ¥ -1or 1 forevery n

2. % zero for all n

3.% -norn

4. % other than -1 or +1

Question Number : 117 Question Id : 9277596811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& A, nXn, Ufddaoiy Mg §, 0 9t sifieeifirs 7 &1 uH%d g

Options :

.Y Td®no [T-1371
2. % Wil n & U Y



3.% nYln
4. % 17 +1 & Tl

Question Number : 118 Question Id : 9277596812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option for system of equation.

Xy +5x3 = -4, 2x1+ 4%y + 3x3 = -2, 4x) + TXp + X3 = -2
Options :

1. # Unique solution

2. # Consistent and infinite solution

3. % Inconsistent

4. * Finite no. of solution

Question Number : 118 Question Id : 9277596812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIHRT Dt JuITelt & o Iat faded o1 9 B |

Xy +5x3=-4,2x1+ 4%y + 3x3 = -2, 4x; + TXp + X3 =-2
Options :

1. % e AR

2. % AR 3R 3d g

3. ¥ 3

4. % gl ol URfFT

Question Number : 119 Question Id : 9277596813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let 'A' be cantor set then Which of the following statement is false
Options :



1. * Tt is closed and bounded
2. % countable
3. # perfect

4. % measure is zero

Question Number : 119 Question Id : 9277596813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 5 A" Fex Ig=d § O Fuffed & 9 &9 01 H3F o 8
Options :

1. % Jg 9 SR UG 8

2. ¢ TUHR™

3. % gof

4. % QUYAR

Question Number : 120 Question Id : 9277596814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let S be any set then Derived set of S is
Options :

1. % Always open

2. ¥ Always closed

3. # Always Infinite

4. % Always Uncountable

Question Number : 120 Question Id : 9277596814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AF W P s ®is T g g <l S &1 09 9= §

Options :

1. % ORI JAT (3M9)



2. ¥ TERN 95 (FANS)
3. % BHIM 3Hd
4. % GO 3B

Discipline2
Group Number : 7
Group Id : 927759234
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 927759257
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759306
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277596815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Arbitrary intersection of open set is:
Options :

1. # Always open

2. % Always closed

3. ¥ may not be open

4. % Always non-Empty

Question Number : 121 Question Id : 9277596815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T (3N e BT A Ufawded o:
Options :

1. % ORI GAT (3M9)

2. % GO §q (FISS)

3. ¢ gAT (3NU) =151 81 Faval

4. % GHRI 3fRed

Question Number : 122 Question Id : 9277596816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (a,) = <(-1)*n> is sequence of Real number then which of the following option is correct?
Options :

1. # (an) monotonically increasing

2. % (an) monotonically decreasing

3. ¥ (an) Oscillatory

4. # (an) bounded

Question Number : 122 Question Id : 9277596816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e ((a,) = <(-1)n> ARATGD AT DT 3IeHH & <l FHEfRad & 9 &F 91 fdwed Ial 82
Options :

1. % (an) T TU Y 9¢ @12

2. % (an) Ty ¥Y J °T /T8

3. v’(an)m

4. ® (an)qﬁ_@l@

Question Number : 123 Question Id : 9277596817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sequence is a convergent sequence if and only if it is a -

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. subsequence

2. Cauchy sequence

3. bounded sequence

4. non - decreasing sequence

Question Number : 123 Question Id : 9277596817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teh 3ehH TR 3hH ¢ I SR paa I T8 & -

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
1. JUMHY (Hieh—a)

2. PRl A
3. URe 3 IhH




4. TR gedl 3 HH

Question Number : 124 Question Id : 9277596818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is spread disease model in a population of L individuals. Where y = y(t) is the number of
individuals who have the disease at time t,

Options :

1. ¥ dy/dt=ky(L —y)
2. % dt/dy =ky(L —y)
3. % dy/dt = ky(L +y)
4, % dy/dt=ky(Lly)

Question Number : 124 Question Id : 9277596818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ ®F L fddal @) sHeke § har g3 AT Hisd 81 S8l y = y(t) 3 afaddl o T= g o I97d t R I 8,
Options :

1. ¥ dy/dt=ky(L - y)

2. % dt/dy =ky(L -y)

3. % dy/dt = ky(L +y)

4, % dy/dt=ky(Lly)

Question Number : 125 Question Id : 9277596819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value(s) of the constant A for which y = exp(Ax) is a solution to the differential equation y" + Sy'— 6y = 0.
Options :

1. % A=6and A=1

2. ¥ A=-6 and A=1

3. % A=-5and A=1

4. % A=5and A=1



Question Number : 125 Question Id : 9277596819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fadics A &1 A ORId [T y = exp(Ax) 3aHT HIBI y" + Sy'— 6y = 0 BT g & |
Options :

1. % A=6 3R A=1

2. ¥ A=-6 3R A=1

3. % A=5 3R A=l

4. % A=5 3R A=1

Question Number : 126 Question Id : 9277596820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The formula for exponential population growth is; (where dN= change in number, dt = change in time, r= the per head maximum potential
growth rate, N=number of individuals in a population.)

Options :

1. # dN/rN=dt
2. % dt/dN=rN
3. % N/dN=dt
4, ¥ dN/dt=rN

Question Number : 126 Question Id : 9277596820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SR 3 BT A & (ST81 dN = U & URkac, dt = I99 & gRacdH, r = Ufa afad siftreas durfad gfs &R, N = s
faad o T=11)

Options :

1. % dN/rN=dt

2. % dt/dN=rN

3. % rN/dN=dt

4. ¥ dN/dt=rN




Question Number : 127 Question Id : 9277596821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the differential equation dP/dt =kP(1 — P /5). Then which of the following is true
Options :

1. # critical point P = 5 is unstable,

2. % critical point P = 0 is stable,

3. % critical point P = 0 is unstable,

4. % P =1 is critical point

Question Number : 127 Question Id : 9277596821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3aH A FHIBUT dP/dt =kP(1 - P/5) R TR B AR A I o T I 8
Options :

1. % Ag@yUi fig P = 5 RR T,

2. % wifdd g p=0RR T,

3. ¢ Sifde fdg p =0 3RR R,

4. % p=| Hifaw g g

Question Number : 128 Question Id : 9277596822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the first-order autonomous differential equation y' = (y — 1)"2 then choose correct answer
Options :

1. ¥ y=1 is the only critical point

2. % y=1 is not a critical point

3. % y=0is a critical point

4. # y=] is not semi stable critical point

Question Number : 128 Question Id : 9277596822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ugdl $hH & WU Ihd THIHIU R f[AaR B y' = (v - 1)*2 R T8 IR &1 I99 B
Options :

1. ¢ y=1 UHHE hifde fig 8

2. % y=1 U Hifad f6g 16l &

3. % y=0 U&h pifad g g

4. % y=1 35 RR wifds g T8 8

Question Number : 129 Question Id : 9277596823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The differential equation d*y/dx*+ y = 0 satisfying y (0) =1, y(nr) = 1 has
Options :

1. ® A unique solution

2. ® A singly infinite family of solutions

3. ¥ No solution

4. % A doubly infinite family of solution.

Question Number : 129 Question Id : 9277596823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3THT THIBRUT d2y/dx>+y = 0 SNy (0) = 1, y(r) = 1 B! TP T 5, 394 &
Options :

1. # Uh AT 8d

2. % §A B UH 3fopcll 3d THg

3. DTS 8 T

4. % g P fgeh 3d THg |

Question Number : 130 Question Id : 9277596824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Let Y| & Y, are two solutions of second order non-homogeneous equation s.t Y{(0)=0, Y'{(0) =1 and Y,(0)=1, Y',(0) =-1, if Y»(x) is non-zero
for all x and h(x)= Y(x)/Y(x), then h(x) is

Options :

1. ¥ Increasing for all x in domain

2. # Decreasing for all x in domain

3. # Decreasing for some X.

4. ® Neither increasing nor decreasing

Question Number : 130 Question Id : 9277596824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP v, & Y, TR FH S TR-IHET GHIBR 5.t Y(0)=0, Y';(0) =1 3R Y,(0)=1, Y',(0) = -1 F G FHLYH &, aE Y, (x) Toft x & fow
LAR & 3R h(x)= Y, (x)/Y(x), A h(x) 8

Options :

1 v yuEda T ol x » R ag W@

2. % gyraes § 94t x o forg gear

3. % P x & ¢ gad|

4. % JYGWIETUCIEI®

Question Number : 131 Question Id : 9277596825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The growth of a particular species of algae A, in time t is assumed to be jointly proportional to both VA and 10 - A . What is the implied
differential equation for A.

Options :

1. # dA/dt=K VA

2. dA/dt=K A (10 - A)
3. % dA/dt=0

4. % dy(t)/ dt = —o(y(t) — K).



Question Number : 131 Question Id : 9277596825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

t T & 1Y AT A i Ueh A=Y Yol 1 gig DT VA 3R 10-A ST o foTT Igad =0 J FHUIAS AFT SIdl 81 A & fod Ffga
3 e GHIHUI T §

Options :

1. # dA/dt=K VA

2.¥ dA/dt=K A (10 - A)
3. % dA/dt=0

4. % dy(t)/ dt = —o(y(t) — K).

Question Number : 132 Question Id : 9277596826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

consider the differential equation y'(t)/{ y(1 — y/K)} = r then choose correct answer
Options :

1. # y=K as r—0

2. % y=K as r—1

3. ¥ y=K as r—oo

4. % y=K as r—2

Question Number : 132 Question Id : 9277596826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG A FHIBI y'(1)/{ y(1 - y/K)} = 1 TR TR &3 1 T81 IR BT T B
Options :

1. % y=K as r—0

2. % y=K as r—1

3. ¥ y=K as r—wo

4, % y=K as r—2

Question Number : 133 Question Id : 9277596827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Integrating factor of differential equation y'+(2/t)y=t-1 is
Options :

1.¥ ¢

2. % ¢

3. % A2

4. % 1/t

Question Number : 133 Question Id : 9277596827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT JHIBI y'+(2/t)y= t-1 BT JHTH AT UG 6:
Options :

1.¥ ¢

2. % ¢

3. % 72

4. % 1/t

Question Number : 134 Question Id : 9277596828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let fand g be defined on (0, « ) and suppose lim f=L and lim g = « as x—oo . Then lim fog as x—o0 is
Options :

1.¥L

2.% ¥

3.%0

4. * Does not exist

Question Number : 134 Question Id : 9277596828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AF T i £ 3R g B (0, o0 ) TR ARUTI fpar a1 § SR AF o o lim £= L 3R lim g =00 as x—o0 & U H &1 @l lim fog BT x—00 §
Options :

.Y L

2. %y

3.% 0

4. % AN[E TRl 8

Question Number : 135 Question Id : 9277596829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f(x)= [x], then Which of the following statement is false at point x=0
Options :

1. % Right hand limit is O

2. # left hand limit is -1

3. # limit does not exist

4. ¥ limit exist at x=0

Question Number : 135 Question Id : 9277596829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g f(x)= [x], A FTH H T BH T YA fog x=0 R A &
Options :

1. % QU B A0 G

2. % QU I -1

3. % ParaeE TER

4. ¢ x=0 TR AT A9E §

Question Number : 136 Question Id : 9277596830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f & g are real valued function and both are continuous at k then which of the following statement is false



Options :

1. ® max{f, g} is also continuous at k
2. ® min{f, g} is continuous at k

3. # |f] is continuous at k

4. ¥ max{f, g} is not continuous at k

Question Number : 136 Question Id : 9277596830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe £ & ¢ IRATIS A Ba g 3R GHl k TR Idd & a1 Ffeiad § ¥ &9 I 6y 3 g
Options :

1. ¥ k IR max{f, g} W Iad §

2. % min{f,g},ktﬁﬂﬂﬁ%

3. % f, kKIRIdd

4. ¢ max{f, g}, k R Igad el &

Question Number : 137 Question Id : 9277596831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f(x)=x+[x] then which of the following is true
Options :

1. # differentiable at x=0

2. ¥ not continuous at x=0

3. # continuous but not differentiable at x=0

4. % differentiable at any point

Question Number : 137 Question Id : 9277596831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e fx)=x+[x] A el A I P T Ia g

Options :



1. % x=0 R AdH a1

2. ¥ x=0 R Idd el

3. % x=0 X gdd Al aHa-1d gl
4. % foodl Wt fig WR sfasberHa

Question Number : 138 Question Id : 9277596832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let [x] denotes the greatest integer less than or equal to x. If f(x) = [xsinnx], then which is false for f(x)
Options :

1. # continuous at x=0

2. # continuous in (-1, 0)

3. % differentiable at x=1

4. % differentiable in (-1, 1)

Question Number : 138 Question Id : 9277596832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF S 3 [x], x A HH T ITP SRR Gy 981 QUi g1 81 T f(x) = [xsinax], A f(x) P T HH A1 39 §
Options :

1. ® x=0 QR Jdd

2. % (-1,0)H gad

3. ¥ x=1 R dha-ilg

4. % (11, 1) ¥ @D

Question Number : 139 Question Id : 9277596833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f (x) = 1-x*2 and g(x) = Cos x for all x €R then which is true -
Options :

L ® f(x) <g(x)



2. ¥ f(x) < g(x) for all x.
3. % f(x) < g(x) only finite number of x.
4. # f(x) > g(x) for all x.

Question Number : 139 Question Id : 9277596833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e £ (x) = 1-x22 AR g(x) = Cos x T x R F WA P AT T B -
Options :

1% f(x) < g(x)

2. ¢ it x & AU f(x) < g(x)

3. % f(x) < g(x), x DI Had GRIHT J&|

4. % gt x & U f(x) > g(x)

Question Number : 140 Question Id : 9277596834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Graph of the curve y = [x + 3| (x + 1) is increasing when:
Options :

L% 3<x<-2

2. % x<-3 or x>-2

3. % x<-3 or x>-5/2

4. ¥ x>-3 or x<-y

Question Number : 140 Question Id : 9277596834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FF y = |x + 3| (x + 1) F AF gaT g

Options :
1. % 3<x<-2



2.9 x<3 Y[ x>-2
3. % x<-3Y[ x>-5/2
4, % x>-3 Y[ x<-y

Discipline3
Group Number : 8
Group Id : 927759235
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 927759258
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759307
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277596835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Coefficient of x° in Taylor series expansion of f(x) = e”x In (1+x) is
Options :

1. * 1/3

2. % 3/20

3. % 3/40

4. % 1/40

Question Number : 141 Question Id : 9277596835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f(x) = e"x In (1+x) BT TR ST FIRAR H x* BT 0ND §
Options :

1. % 1/3

2. % 3/20

3. % 3/40

4. % 1/40

Question Number : 142 Question Id : 9277596836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let m and n be positive integer then the lim x*y™ / x*+ y? at (0, 0) exist if
Options :

l.* m+n<-2

2.%* m+n<2

3.9m+n>2

4. % 2>m+n>1

Question Number : 142 Question Id : 9277596836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & {6 m 3R n YIS QUITD & @l lim xeym / x2+ y2 (0, 0) TR HIN[G & TS



Options :

l.* m+n<-2
2.% m+n<2
3. m+n>2

4. % 2>m+n>1

Question Number : 143 Question Id : 9277596837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f: D — R then choose correct option -

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. If either of f(x), f(y) does not exist at (a, b) then f may be differentiable at (a, b)

2. If either of f(x), f(y) does not exist at (a, b) then f is not differentiable at (a, b)

3. If either of f is not differentiable at (a, b) then f(x), f(y) can be continuous at (a, b)
4. If f(x)is continuous and f(y) exist at (a, b) then f may not be differentiable at (a, b)

Question Number : 143 Question Id : 9277596837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe £: D — R Al GE1 fdched &1 T He-
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.

Options :

1. T f(x), f(y) & A BIS T (a, b) R UG 78! &, Al £, (a, b) W SAH1Y 8l Tobdl &
2. TfE f(x), f(y) § A PIZ TP (a, b) TR HING el 7, Al £, (a, b) W ATHT-1T a1 8

3. TfC T Y PIS TP (a, b) W AR a1 8, Al f(x), £(y), (2, b) TR Taqd &1 GH 5|
4. 9 f(x) Tad 8 3R (y), (2, b) W HAIE & A £, (a, b) W MAHTANI I8! 8] bl §




Question Number : 144 Question Id : 9277596838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f(x, y) = (y-2)x? -y? then f(X, y) at point (0, 0) is -
Options :

1. ¥ Relative maximum

2. ¥ Relative Minimum

3. # Neither maximum nor minimum

4. % None of these above

Question Number : 144 Question Id : 9277596838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe fx, y) = (v-2)¢ -y R 18 (0, 0) R, y) B -
Options :

1. ¢ gue Iy

2. % goe FEE

3. % 73w SR 7 g1 s

4. % IRIGA T Y HIs Aol

Question Number : 145 Question Id : 9277596839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f(x, y) = 4+x>+y3-3xy then choose correct answer
Options :

1. ¥ Relative minimum at (1,1)

2. % Relative minimum at (-1,-1)

3. % Relative minimum at (0,0)

4. # Relative maximum at (1,1)

Question Number : 145 Question Id : 9277596839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

qﬁf(x, y)=4+x3+y3-3xy?‘ﬁﬂﬁw5faq:fﬁ
Options :

1. ¢ (1,1) R g [y

2. % (-1,-1) TR guel [YS

3. % (0,0) 3R A0 FAfYE

4. % (1,1) R 90 If=P

Question Number : 146 Question Id : 9277596840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let A be the area bounded by x+y < 1 in first quadrant then value of [[xy dx dy is -
Options :

1.9 1/24

2. % 5/24

3. % 1/48

4. % 1/96

Question Number : 146 Question Id : 9277596840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁ%Amaﬂﬂmﬁx+y< 1 @Waa%?hﬂxy dx dyWIIFT%-
Options :

1.9 1/24

2. % 5/24

3. % 1/48

4. % 1/96

Question Number : 147 Question Id : 9277596841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Let V be the region bounded by the planes x =0, x =2,y =0, z=0and y + z = 1, then the value of Integral [[ly dx dy dz is -
Options :

1. * 12

2. % 4/3

3.% 1

4.9 1/3

Question Number : 147 Question Id : 9277596841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qﬂﬁ%VW}(ZO,XZLy:O,ZZOGhTy+z=l@Wéﬂ%,?ﬁW”fydxdydzmqﬁ%-
Options :

1. % 1/2

2. % 4/3

3.% 1

4.¥1/3

Question Number : 148 Question Id : 9277596842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let C be a positively oriented , piecewise smooth, simple closed curve and let D be the region enclosed by the curve. If P and Q have continuous
first order partial derivatives on D then,

[e(Pdx+Qdy) =

Options :

1. % |D (dQdx -dPdy) dA

2. ¥ [[D (dQ/dx -dP/dy) dA

3. % [(dQ/dx)dA

4. % [[(dy/dp)dA

Question Number : 148 Question Id : 9277596842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AF o {6 € TP 4ATdS ©U ¥ 3, 3I-aR U, IR 8¢ a5b g 3R D DI 96 I [eRT &7 g1 Ife P 3R Q &1 D W Jdd YuH %HH
3IfRIF SaH A g, A [c(Pdx+Qdy) =

Options :

1. # |D (dQx -dPdy) dA

2. ¥ [ID (dQ/dx -dP/dy) dA

3. ® [(dQ/dx)dA

4. % [[(dy/dp)dA

Question Number : 149 Question Id : 9277596843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Evaluate $c y*dx -x3dy where ¢ is positively oriented circle of radius 2 centered at origin.
Options :

1. % 4[]

2. % (4[]

3.9 (-24])

4. % 24[]

Question Number : 149 Question Id : 9277596843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATH B fe y*dx -x*dy TT8T ¢ Td U F digd HodT 2 BT 4ATES U 9§ 3989 I 5|
Options :

1. % 4]]

2. % (-4ID

3.9 (-24]D

4. % 247]

Question Number : 150 Question Id : 9277596844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Compute JF.ds, where C is the curve in which the cone z>=x*+y? intersects the plane z=1. (Oriented counter clockwise viewed from positive z-



axis).

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. /2

2.7m/8

3. /4

4.1

Question Number : 150 Question Id : 9277596844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%F).ds @1 UM B3, STET C 98 I ¢ ORI P 22=x>+y> THAA z=1 B! Ufade Bl & | (ATHIE SI0Tad ST YT z-31&f J ST STl
|

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. w/2

2.7/8

3. /4

4.n

Question Number : 151 Question Id : 9277596845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
if a(r) is a vector field and we want to compute the total flux of the field across the surface that bounds a volume Then [s a.ds =

Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.



Options :

1. [div a.dv
2. Jv div a.dv
3.diva=0
4. div a=-1

Question Number : 151 Question Id : 9277596845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e a(r) T WD &7 § 3R 59 Tdg WR & & F ATHATE B TTUMT BT A6 & Sl Ueb T D! UREG BT al Js ads =
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. [div a.dv

2. [v divadv

3.diva=0

4. div a= -1

Question Number : 152 Question Id : 9277596846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f: [a,b] >R, is continuous then which of the following is correct;
Options :

1. ¥ f must be integrable on [a,b]

2. # fis need not integrable on [a,b]

3. # fis integrable on R

4. ¥ fis integrable on R-[a,b]

Question Number : 152 Question Id : 9277596846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



1Clﬁ'f: [a,b]eR,W%?ﬁmﬁﬁﬁaaqua
Options :

1. ¥ £, [a,b] R THIG AT BT AT T

2. % £ [a,b] TR GHBICT B I STl Te] 8
3. % f R R IgATGHIHY §

4. % £ R-[a,b] R GHIGET §

Question Number : 153 Question Id : 9277596847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f is integrable on[a,b] «<»¢ for every € >0 there exists a partition p such that

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. U (p,H)-L(p.f) <e

2.U(p,H)>¢

3.L(p,H)<e

4. U(p,H=¢

Question Number : 153 Question Id : 9277596847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f, [a,b] <>¢ TR YHIGAT & D ¢ >0 P IT T fqUTSH p HIN[G § 9 av8 foh
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. U (p,f)-L(p.f) <e
2.U (p,f)>¢

3.L(p.,H<e



4. U(p,H=¢

Question Number : 154 Question Id : 9277596848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What conditions are necessary to prove that the upper and lower integrals of a bounded function exist?
Options :

1. ® a,beR, a>b, and f:[a,b] >R

2. % a, beR, a<b, and f:[a,b] >R be bounded

3. % a,beR, a<b, and f:[a,b]—Z be bounded

4. % 3, beZ, a<b, and f:[a,b]—R be bounded

Question Number : 154 Question Id : 9277596848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Tfad B o fo1T B T Ul SMaD g fh Th IR A & SHULT 3R Had THHd ANE ]2
Options :

1. % a beR,a>h, 3R f:[a,b] >R

2.¥ a, beR, a<b, 3R f:[a,b]HRWEﬁ

3. % a, beR, a<b, 3R f:[a,b]—>Z uREg 8l

4. % a beZ, a<b, 3R f:[a,b]eRqﬁa&rBEf

Question Number : 155 Question Id : 9277596849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sequence of real numbers is a real-valued function defined on the set of:-
Options :

1. ¥ whole number

2. % natural number i.e.,f:/N—R

3. # irrational number

4. % rational number



Question Number : 155 Question Id : 9277596849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JRAfad TS BT IHH U aRdiadh-Hed Ba- Bidl ¢ o (-8 & T R YR fara ST g:-
Options :

1. ® guf e

2. ¥ UTehd T-HT 31T £:N—R

3. % 3URTY e

4. % UREY g=T

Question Number : 156 Question Id : 9277596850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the power series X (x + 2)%/On then which of the following is true for series.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Power series converges for x = -1

2. Converges for x > 1

3. Converges for -3<x <-1

4. Converges for -1 <x <1

Question Number : 156 Question Id : 9277596850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AN = (x + 2)7On R fTAR &R, @ 9 & T SH y@ar & u Ia g1
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



. x = -1 & foTT o1 §RaaT SRR Bt 3
x> 1 & forg I RRur Har @

L-3<x <-1 %ﬁﬂ a@wm%

-1 <x < 1 & fow SRR Har @

AW =

Question Number : 157 Question Id : 9277596851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f is continuous on [a,b] , then fis :-
Options :

1. # differentiable

2. ¥ integrable

3. * increasing

4. % decreasing

Question Number : 157 Question Id : 9277596851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zlﬁ f, [a,b] UX Hdd %, a f%z-

Options :

1. % 3[qpa-g

2. ¢ QAT

3. # dedIl

4, % Ycdl

Question Number : 158 Question Id : 9277596852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If d(x, y) = (x - y)? then which of the following is true:
Options :

1. # 'd"is metric on R.



2. ¥ 'd' is not metric on R.
3. % ' satisfies triangle inequality.

4. % 'd' does not satisfy symmetric properly.

Question Number : 158 Question Id : 9277596852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e d(x, y) = (x -y Al oo d o o aa &
Options :

1. % ¢, RRART g

2. ¢ 'd RRARH TEIRI

3. % ¢ FAYS A DI TP TR g |

4. % ' JHHTS 70T DI 3P T AP T8l BT 8 |

Question Number : 159 Question Id : 9277596853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given set X and a function d: X X X — R we say that the pair M =(x,d)isa-

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Euclidean distance

2. aset

3. metric space

4. vector space

Question Number : 159 Question Id : 9277596853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU T T =g X M BAT d: X x X > REAPEA G B TAM = (x,d) ® -




Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. gfqafeg gt
2. U G
3. Ofew Tfty
4. Gfe=r Afiy

Question Number : 160 Question Id : 9277596854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Givenset U € {(x,y) ER*y>0,x/y>7} is -
Options :

1. ¥ Open

2. % Close

3. % Compact

4. ¥ Semi open

Question Number : 160 Question Id : 9277596854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T I =g U € {(x, y) ER% y> 0, x/y >7} © -
Options :

1. ¥ e (3To),

2. % §¢ (FKivs)

3. % Y-

4. % 3¢ gar (39



Discipline4

Group Number : 9

Group Id : 927759236

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 927759259

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759308

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9277596855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Set {(x, y) €ER?: (y/Sin (x%y?*))>2} is -
Options :

1. ¥ Open

2. * Close



3. ¥ Compact
4. ® Cl-Open

Question Number : 161 Question Id : 9277596855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T {(x, y) €R : (y/Sin (x*y*))>2} © -
Options :

1. G (30

2. % §g (KITS)

3. % gud

4. % C1-gdT (31T)

Question Number : 162 Question Id : 9277596856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

|1d]|1and | |d]|]zin C[O, 1] are two matric spaces then :

Options :

1. ¥ Both are topologically equivalent.

2. % Both are not topologically equivalent.
3. # both are empty

4. ® Can not say

Question Number : 162 Question Id : 9277596856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C[0, 1] ||d| |1 3T ||d]|.aF Afgs wfse & an:
Options :

1. ¢ GHI SUIaed U ¥ I0dE § |

2. % GHI SUAIIRd WU ¥ & T8l g |



3. % g e g
4. % &g ol Gobdl

Question Number : 163 Question Id : 9277596857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A function f:A —R is continuous on a set BC A if:

Options :

1. ¥ if it is continuous at every point in B
2. # discontinuous in B

3. # discontinuous in both A and B

4. % discontinuous at every point of its domain A.

Question Number : 163 Question Id : 9277596857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP o f:A —R T Bc A R Jdd 8 Tfe:
Options :

1. ¥ gf¢ I8 B & U@ fdg W Idd 8

2. % BH 3dd

3. % A SIRBGH T 3¥ad

4. % 30 UGS A P TP foig R Sdd |

Question Number : 164 Question Id : 9277596858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Bx(.) and By(.) denote open balls in space X and Y respectively, f is continuous at x if.
Options :

1. #® there exist € > 0 : f[Bx(x : d)]i By[f(x), €]

2. % there exist > 0 : fiBx(f(x) : d)]I By[x, €]

3. ¢ there exist & > 0 : f{Bx(x : d)]I By[f(x), €]



4. % there exist £> 0 : f[Bx(f(x) : d)]i By[x, €]

Question Number : 164 Question Id : 9277596858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Bx(.) 3R By(.) U IHY X 3R Y & Feit el o Feiad Ha 8, £, x R Iad g, afe |
Options :

1. % &> 0 f{Bx(x : d)]i By[f(x), ¢] HIN[G &

2. % §>0: f[Bx(f(x) : d)]f By[x, ¢] AING &

3.¢ 5> 0: fiBx(x : d)]f By[f(x), £] FIV[G &

4. % &> 0 f{Bx(f(x) : d)]i By[x, ¢] HIN[G &

Question Number : 165 Question Id : 9277596859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let (x, dx) and (y dy) be two metric spaces and f : x— Y then f is continuous if

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. For any set A I Y we have f-1 (A) I X is open.

2. For any closed set A { Y we have f-1 (A) { X is open.

3. For any open set A I Y we have f-1 (A) [ X is closed.

4. For any open set A I Y we have f-1 (A) { X is also open.

Question Number : 165 Question Id : 9277596859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AW fF (x, dx) 3R (y dy) a1 A AT § 3R £: x— Y @ £Idd g Tfe
Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. Tt i ageEg ALY & U SAR U £1 (A) X GaT 5

2. et i e T Al Y F U EAR U £1 8 (A) [ X GAT &

3. Pt go e A [ Y F U gaR U £1 (A) [ X §E B

4 fFdt i g T A { Y & RUEAR TN £:1 (A) X W e g

Question Number : 166 Question Id : 9277596860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is compact in R
Options :

1. % [0,2)

2.9 0, 2]

3. % {1/n: n is natural number}

4. # !n:n is natural number}

Question Number : 166 Question Id : 9277596860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafea o R & Hide §
Options :

1. % [0,2)

2.0, 2]

3. % {1/n: HW}T@T%}

4. % {n:nUldpd AT %}

Question Number : 167 Question Id : 9277596861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let (A, p) and (B, t ) be metric spaces, and suppose that f: A — B be a continuous function from A to B. If A is connected, then



Options :

1. ¥ Image f(A) is also connected.

2. ® Image f(A) may not be connected.

3. # connected only if A is natural number

4. ® connected only if B is connected

Question Number : 167 Question Id : 9277596861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT F (A, p) IR (B, 1) ARH AT G, SIRAATH £: A - B, AU B IH Tad bad ¢ | Afe A JSTE3AT R, I
Options :

1. ¢ B fa) f IS g8 B

2. % B f(A) TS 781 8 Ihell B

3. % Had aH JST ] d A Thias Tea g

4. % Had qfl 815 4 B ST 81

Question Number : 168 Question Id : 9277596862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is necessarily true?

Options :

1. # Automorphism group of a abelian group is abelian.
2. # Automorphism group of S3 has order 3.

3. ¥ Automorphism group of Z is abelian.

4. % Automorphism group of Z is not abelian.

Question Number : 168 Question Id : 9277596862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefead & 9 o 97 3 U J I 52

Options :



1. % IRfera g o1 3ifamifthor THg afer B
2. % $3°% SfCHIhoH THg BT HH 3

3. ¢ 7 &1 Siciaiithed Wg SaferH 7|

4. % 7 P ICHIthoH TUg Safra g g

Question Number : 169 Question Id : 9277596863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not true?
Options :

1. % U(8) is noisomorphic to U(10)

2. % U(8) is isomorphic to U(12)

3. # S4 is not isomorphic to D12

4. ¥ U(8) is isomorphic to U(10)

Question Number : 169 Question Id : 9277596863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 &F w1 99 751 82
Options :

1. % U(8), U(10) & AIaHIth® §

2. % U(8), U(12) & SAMITH® §

3. % 84, D12 & AIAHIh® e §

4. ¥ U(8), U(10) & STHIfh® 8

Question Number : 170 Question Id : 9277596864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not true?
Options :

1. % {7\{0}, x } is a group.



2. % {Q\{0}, x } is a group.
3. % {R\{0}, x } is a group.
4. % {C\{0}, x } is a group.

Question Number : 170 Question Id : 9277596864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol d I o= T ag T8 82
Options :

1. ¥ {20{0}, x } Ueb HHG B |

2. % {Q\{0}, x } Uh THE B

3. % (R\{0}, x } T TG g

4. % (C\[0}, x | UH T &

Question Number : 171 Question Id : 9277596865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The external direct product of additive group of integers Z with itself is?
Options :

1. # cyclic

2. % cyclic of finite order

3. % not cyclic

4. % Can not say

Question Number : 171 Question Id : 9277596865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T4 & 1Y YUITes 2 & TS THE H1 a1l UI& 0T 82
Options :

1. ® iy

2. % URfd ohH BT bl




3.9 P8l g
4. % &g ol Gbd

Question Number : 172 Question Id : 9277596866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If external direct product of two groups A & B is abelian then
Options :

1. # only A is abelian

2. # only B is abelian

3. % A and B both are abelian

4. # A and B both are not abelian

Question Number : 172 Question Id : 9277596866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & TYET A & B HT ST&I U8 UGS Sfafera § <
Options :

1. % Had A fafera g

2. % $HId B ST §

3. ¥ A 3R B T RfEA €

4. % A 3R BGHI sraferH 781 8

Question Number : 173 Question Id : 9277596867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many subgroups of the permutation group S4 have of order 3?
Options :

1. %0

2.% 4

3.% 8



4. # Can not say

Question Number : 173 Question Id : 9277596867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT (TRISEH) THE 4 & [ STTHE A HH 3 82
Options :

1. %0

2.¥ 4

3.% 8

4. % g gl Yobd

Question Number : 174 Question Id : 9277596868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The product of an even permutation and an odd permutation is
Options :

1. # Even

2.9 0dd

3. % not define

4. % zero

Question Number : 174 Question Id : 9277596868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HHIY (TRICRM) 3R faH HHag (TRiCTH) &1 UH%d §
Options :

1. # 9H

2. ¢ fauy

3. % GRYIYT 81

4. % R[Y



Question Number : 175 Question Id : 9277596869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true?

Options :

1. ¥ Group of order 31 is abelian.

2. % There does not exist a abelian group of order 2021.
3. # Every group of order 4 is cyclic.

4. ® Byvery group of order 6 is abelian.

Question Number : 175 Question Id : 9277596869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafRea 8 4 dH I 82

Options :

1. ¢ %Y 31 HT I4g el B

2. % W 2021 BT S JHE HINE Tl 7
3. % %Y 4 BT YD THg IHI g

4. % B 6 BT IS Y Mo g

Question Number : 176 Question Id : 9277596870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many 3-Sylow Subgroup are there in the group of order 15?
Options :

1. %0

2.9 1

3.%3

4, %5

Question Number : 176 Question Id : 9277596870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%Y 15 & I | frar 3-Rrall Sug 82
Options :

1.#*0

2.¥ 1

3.% 3

4. %5

Question Number : 177 Question Id : 9277596871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the order of a 7-Sylow subgroup of GL3(Z7)?
Options :

1. * 1

2. %7

3. % 49

4. 343

Question Number : 177 Question Id : 9277596871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GL3(27) & 7-913d! SUGHE H1 HH o1 &2
Options :

1. %1

2.% 7

3. % 49

4, ¥ 343

Question Number : 178 Question Id : 9277596872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If f(z)= (x+2)+5yi then for any z, f(z) is
Options :

1. ® Differentiable for all z

2. ¥ Not-differentiable for any z

3. # Differentiable for some z

4. % none of the above

Question Number : 178 Question Id : 9277596872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tie f(z)= (x+2)+5yi a fooddt oft 2 & 1T, () B
Options :

1. % gyt 2 & forT sraseriig

2. ¢ oot oft » & foTT sraeeriia 181 &

3. % PO z b U DT

4. % AR Y BIS o 75T

Question Number : 179 Question Id : 9277596873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Polar form of Cauchy - Riemann Integral is -
Options :

1. ® Ur = —VG/I' & Vr = —Ue/l’

2. ¥ Ve = -Ur/l‘ & Ue = Vr/I'

3. ® Ur =- Ve/r & Vr = —Ue/r

4, ® Ur = Ve/I' & Vr = -U@/I’

Question Number : 179 Question Id : 9277596873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI A IHd &1 Yda TR -



Options :

1. 8 U,=-Vog/r& V,=-Uyr
2.¥ Vy=-U/r& Uy= Vi
3. % U,=-Vgr & V. =-Uyr
4, % U,=Vyr& V,=-Uyrr

Question Number : 180 Question Id : 9277596874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rank of an integral - elementary function f is:-
Options :

1. # Integral elementary function

2. ¥ the depth of the formula defining f.

3. ® real analytic function

4. % continuous function

Question Number : 180 Question Id : 9277596874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T GHIDH - T el £ Bl b o:-
Options :

1. % gHIh Ui Berd

2. ¢ £ URYINT B arel I B e |

Discipline5
Group Number : 10
Group Id : 927759237



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Discipline5

Section Id : 927759260

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759309

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9277596875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If all the zeros of a polynomial p(z) have negative real parts, then all the zeros of p'(z) must have
Options :

1. ¥ Negative real part

2. % Positive real part

3. * both positive and negative real part

4. % Real part is zero



Question Number : 181 Question Id : 9277596875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i Teb UG p(z) P THI DI H BUNHS aRAdD HIT Gl A p'(z) b JH LI H G AMRTY
Options :

1. ¢ FBUTHS dRdidd YT

2. % YFIHD dRAfdD YR

3. % G ¢FTAP 3R HUMHS aRAfADH HFT

4. % gRAfdS YT LI §

Question Number : 182 Question Id : 9277596876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If p(z) is polynomial with real coefficient has zero a of order k then
Options :

1. # @ may not be zero of p(z)

2. # @ is zero of p(z) of order k+1

3. % @ is zero of p(z) of order k

4. # @ is zero of p(z) of order k-1

Question Number : 182 Question Id : 9277596876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g p(z) TP TgUG ¢ SIIdh dRdiad Ul H hH k &1 T o § dl
Options :

1. ® d,p(z)W@ﬁﬁW%

2. % @, BHK+ P p(z) BT

3. 6, BHK D pz) BT &

4. % 5, HHk-1 P p(z) BILIA G

Question Number : 183 Question Id : 9277596877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
If f(z)= z*{cos(1/z)} then residue of {(z) is
Options :

1. % 1/12

2.9 1/24

3. % -1/24

4. % -1/12

Question Number : 183 Question Id : 9277596877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tfe f(z)= 22 {cos(1/z)} T f(z) T AP §
Options :

1. * 1/12

2.9 1/24

3. % -1/24

4. % -1/12

Question Number : 184 Question Id : 9277596878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not P.I.D.?
Options :

1. % Z

2.9 76

3.%Q

4. % 7]i]

Question Number : 184 Question Id : 9277596878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifea d ¥ s pLD. T8 82



Options :
1. % Z
2.¥ 76
3.%Q
4. % 7]i]

Question Number : 185 Question Id : 9277596879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not U.F.D.?
Options :

1. * R

2. % 75

3. % Z[X]

4. Z[\5]

Question Number : 185 Question Id : 9277596879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Faffa ¥ 9 UED. T8 82
Options :

1. * R

2. % 75

3. % Z[X]

4. % 7[\5]

Question Number : 186 Question Id : 9277596880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If T be the linear operator on a finite dimensional on P»(R) defined by T(f(x))= f'(x). Let B be corresponding matrix of T then which is true about
B

Options :



1. ®* Rank of Bis 1
2. % Rank of Bis 3
3. % trace of B is zero

4. % Determinant of B is non zero

Question Number : 186 Question Id : 9277596880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T, T(f(x))= f(x) TRT IR P,(R) TR IR mardt R Wfbar g1 AA @ [ B, T HIHI MY R, ABF IR A S AT I §
Options :

1. % BRIN® 1§

2. % BHINDH 38

3. ¥ BHIAAYAR

4. % B P YRS YA &

Question Number : 187 Question Id : 9277596881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let T be the linear operator on P2(R) defined by T(f(x)) =f(1)+f'(x)x+(f'(0)+{"(0))x? then which is true for T
Options :

1. % T is Diagonalizable

2. % T is not Diagonalizable

3. % eigenvalue of T is purely imaginary

4. % all eigenvalue of T are equal

Question Number : 187 Question Id : 9277596881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AF T b T(x)) =f(1)H X)x+HE(0)+(0))x2 GRT ARHIIT Po(R) TR TP Tfpan g, AP AT T & e T 8
Options :

1. % 7TRAwuifg g



2. ¢ T famuifg 1€ &
3. % T &1 YOS A fax[g U I STed-® §
4. % T & It 3ifieTeires O SRR §

Question Number : 188 Question Id : 9277596882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A is an mxn matrix such that rank(A)= n, then which of the following is true
Options :

1. ¥ A*A is not invertible

2. ¥ A*A is invertible

3. # A*A is invertible only if A is identity matrix

4. # if m>n then AA*is invertible

Question Number : 188 Question Id : 9277596882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ZI'%A,anW%QﬂW%%(A)Zn,?ﬁﬁgﬁﬁﬁqWW%
Options :

1. % A*A U T8 §

2. ¥ A*A TN §

3. % A*A Had qu Ui 81 TohdT 8§ STd A THH g 8l

4. % IS m>n A AA* THA §

Question Number : 189 Question Id : 9277596883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Any orthogonal set of non-zero vectors in an inner product space V is
Options :

1. ¢ linearly independent

2. % linearly Dependent



3. % empty

4. % may or may not be linearly independent

Question Number : 189 Question Id : 9277596883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R U JHY v H YR A o1 Sis o dfies aq=d 3
Options :

1. v & U ¥ @aq

2. % QH FU I i

3. % Red

4. % Y% w0 A Wi g1t I B SR S o @ b

Question Number : 190 Question Id : 9277596884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A is normal matrix then what is true about A
Options :

1. ¥ A need not be Hermitian matrix

2. ® A is always real matrix

3. # A must be Hermitian matrix

4. ® A is Always skew Hermitian matrix

Question Number : 190 Question Id : 9277596884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i A AT STHE & Al A & IR H 371 9 82

Options :

1. ¥ A B g g B &1 ATTIDH T T8 §
2. % A UM GRAd® SMHE Bidl §

3. % A giffens smegg BT anfeT




4. % A GHRM TP STHICTT G §

Teaching Methodology
Group Number : 11
Group Id : 927759238
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 927759261
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759310
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 9277596885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does John Dewey emphasize on?



Options :

1. % That education should be a social process
2. # That education should be professional

3. % That education should be variable

4. ® That education should be friendly

Question Number : 191 Question Id : 9277596885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S R P R R 23

Options :

1. ¢ fob e wep HreATiores Ufeban g1 =gy
2. % o frem UaR gt Anfgw

3. % fob e URGd=iTe It =g T

4. % 13 e fomraa g arfgw

Question Number : 192 Question Id : 9277596886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THE FOUR PILLARS OF EDUCATION FOR THE 21st CENTURY is
Options :

1. ¥ Learning to Know, Learning to do, Learning to Live and Learning to Be.
2. # Learning to go, Learning to work, Learning to write, Learning to read

3. # Learning for book, Learning to write , Learning to live and learning to do

4. % Learning for learn, learning to be, Learning for teaching, Learning to do

Question Number : 192 Question Id : 9277596886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2191 Tt & foru e & IR Wy gl

Options :



1. ¢ ST & o a1, 3 & forg Ihan, S o fore ke $iR 99 & fore dem|
2. % SIHTIRIAT, HTH BT IRaT, fora & forg Wikem, gg- o fag S

3. % Qe & foIE WRa, foram & oty TR, S & fore TikaT 8k & & forw Tka
4, % HREA & fore A1, 94 & ford Ta=r, Ram o forg dikaqn, x4 & forg e

Question Number : 193 Question Id : 9277596887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The other name of error correctionis .
Options :

1. # Feedback

2. ¥ Rectification

3. # Clarification

4. % Checking

Question Number : 193 Question Id : 9277596887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRFIRBITIITH Bl
Options :

1. % yfagfy

2.  URENYT AaHH M)
3. % WHIHRI

4. % ST

Question Number : 194 Question Id : 9277596888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find one of the groups of the Biglan-Becher typology of academic disciplines.
Options :

1. # Pure and applied discipline



2. # Hard and soft discipline
3. ¢ Soft and Applied disciplines
4. # Good and bad discipline

Question Number : 194 Question Id : 9277596888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AeffOres fawdt & foTaH-aeR TReUfaR (ersudro)® Tqg! & 9 T J1d He|
Options :

1. % g 3R I 3ieqg fawa

2. % PHER 3R A ey fawg

3. ¢ ARG 3R ST S fawg

4. % 3T 3R R IR

Question Number : 195 Question Id : 9277596889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Symbolic interactionism (George Herbert Mead) is based specifically on
Options :

1. ¥ communication

2. # Genders

3. # Children

4. % Society

Question Number : 195 Question Id : 9277596889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl 3id:fohamare Qs gec Uie) favy & u 9 IR SMURA B
Options :

1. ¢ 9IR

2. % fefm




3. % gdH
4, % AN

Question Number : 196 Question Id : 9277596890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Social learning theory is one of the theories classified under socialisation theories. It is most closely associated with .
Options :

1. ¥ the work of psychologist Albert Bandura

2. # terms of gender development

3. % behaviourist tradition

4. ® pegative reinforcement

Question Number : 196 Question Id : 9277596890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e Rigid THsliaRu Rigial & dgd diffed R AV TG 81 g8 & 91y Ued fAde A JSTgan gl

Options :

1. ¢ AT 3fedd g B Hid
2. % T fowrg &t =rd

3. % YAgRAG] TWWRT

4. % THRIAD G

Question Number : 197 Question Id : 9277596891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Discussion method aims at .
Options :

1. ¥ Uniting and integrating the work

2. # Organizing and outlining

3. # Treatment of Wrong Answers



4. % Observation of Courtesy

Question Number : 197 Question Id : 9277596891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EEACIDEA RS S

Options :

1. ¥ BHTH B TH9e 3R THIHd BT
2. % IS 3R AT

3. % TTQd ITR1 B STERUT

4. % TSI BT TADA

Question Number : 198 Question Id : 9277596892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of this is not a role of teacher?

Options :

1. ® The teacher must be a person of high integrity and must possess high self worth.

2. # The teacher must have pleasing personality, in depth knowledge and professional training .
3. ¥ Teacher should enact as parent of students.

4. % Teachers should lead a true moral life.

Question Number : 198 Question Id : 9277596892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 S 1 & B YHHT 781 82

Options :

1. % & P I JAMET BT Afad gIH1 AT 3R ITH I 3TH-Jed 84T AT
2. % T o 3hy Afaadd, T8 I 3R IR &1 81T 1Tl

3. ¢ T8/ B BET & AU & ¥4 H S ST 91|

4. % e/t & I=ar Afdd Sfia ST ATl




Question Number : 199 Question Id : 9277596893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main objective of an assignment is to evaluate
Options :

1. ¥ Knowledge of subject matter

2. % Presentation skills of the students

3. # Interpersonal relationship

4. ® Reading ability

Question Number : 199 Question Id : 9277596893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PHHR BT YA TERT T YeHih BTG
Options :

1. ¢ faug a5 H1 I

2. % JHEI BT U PIR

3. % Sfadufeas day

4, % UG P &

Question Number : 200 Question Id : 9277596894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How will you describe an inclusive classroom?

Options :

1. ¥ a general education classroom in which students with and without disabilities learn together
2. ® a private education classes in which students with and without disabilities learn together

3. # a government school provide education In which students can learn separately

4. ® aprivate school where students can learn

Question Number : 200 Question Id : 9277596894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3{TY T JHIARN BT BT qUH B B2

Options :

1. ¢ U I e we s fawein ok fasairar fodr & @ te 9y Iad @
2. % T fon e avf forgd fawanT iR faswarmar fomr & o1 te a1y dikad @

3. % T R faermera e v a8 fS5ad 8 3re ¥ Iha Ihd ©

4. * U fAon faerey Sgt o1 Wa 9ohd &




